
 

अ�खल मिू �त� के िनद�शन म�  
 
 

आॅनलाइन लि �न�ग �ो�ाम के तहत  

 
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 
 
 
 
 
 
 

 

(िह�द� एवं अ�ँज़ेी दोनों मा��यमों म�)  
 
 

टे�ट कोड : SNK-PG2101 
डेमो माॅक टे�ट (सामा�य अ��ययन)  

 

यपूीएससी (�ी�) 2021 टे�ट सीरीज़ 



 
SanskritiIAS Online Test Series​        I          ​UPSC (Pre.) 2021​               I                      ​�ह�द�   /   English 

 
  

1. ​बादामी, कना�टक रा� का एक ��स� �भ�� �च� एवं                     
शलै�कृत गफ़ुा �थल ह।ै इसके बारे म� िन��ल�खत म�                 
स ेकौन�सा/ स ेक�थन सही ह/ै ह� ?  

1. बादामी क� गफुाओं का उ�खनन चाल�ुों के             
संर��ण म� िकया गया। 

2. इन गफुाओं म� शवै, व�ैणव त�था जनै धम� से                 
संबं��धत �च� उ�क�� �ण�त ह�। 

3. इनम� इं� को भी �चि�त िकया गया ह।ै 

      नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a)  केवल 1 और 2 

(b)  केवल 2 और 3 

(c)  केवल 1 और 3 

(d)   1, 2 और 3  

 

2. ​िन��ल�खत म� कौन�सा / से क�थन िद�ली स�तनत के                   
दौरान इ�ता �णाली के संदभ� म� सही ह ै/ ह� ?  

1. बलबन के समय से म�ुती को अपने और सनेा के                   
खच� को परूा करने के बाद एक� शषे आय                 
(फवा�ज़ल) क� � को भजेना होता था । 

2. िफरोजशाह तगुलक के समय म� जब इ�ता             
वंशानगुत हो गया तब इ�ता पर रा� का               
िनयं�ण �ीण हो गया।  

       नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a)  केवल 1  

(b)  केवल 2  

(c)  1 और 2 दोनों 

(d)  न तो 1, न ही 2  

3. रा�� पित और उपरा�� पित को उनके पद से हटाने के                   
संबंध म� िन��ल�खत क�थनों पर िवचार क��जए :  

1. भारत के उपरा�� पित को हटाने का ��ताव संसद                 
के िकसी भी सदन म� लाया जा सकता ह।ै 

2. रा�� पित को हटाने के �लए महा�भयोग ��ताव               
केवल लोकसभा म� ही लाया जा सकता ह।ै 

उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै  ह� ? 

(a) केवल 1   

(b) केवल 2 

(c) दोनों 1 और 2 

(d) न तो 1, न ही 2 

 

4. ​वष� 1916 म� लखनऊ म� होने वाला एक मह�वपणू�                   
घटना�म म�ु�लम लीग और का� �से का एक सा�थ               
आना था। लीग क� ��थित म� इस बदलाव के पीछे                   
िन��ल�खत म� स ेकौन�स ेकारण थ?े 

1�   यवुा कैडर म� सा�ा�वाद िवरो�धी भावनाएँ। 

2. का� �से क� तरह �वशासन का ल�� दोनों प��ों                 
को करीब ल ेलाया। 

3. बा�कन के य�ुों म� तकु� क� मदद करने से ि�टेन                     
का इंकार। 

नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :   

(a) केवल 1 और 2  

(b) केवल 1 और 3 

(c) केवल 2 और 3 

(d) 1, 2 और 3  

 
 

Address:​ 631, Ground Floor,                                                    ​Contact :​        742808557/58 
Dr. Mukherjee Nagar, Delhi-110009                                          ​Web :​ ​www.sanskriti​IAS​.com  
                                                                        ​2  
 

http://www.sanskritiias.com/
http://www.sanskritiias.com/
http://www.sanskritiias.com/


 
SanskritiIAS Online Test Series​        I          ​UPSC (Pre.) 2021​               I                      ​�ह�द�   /   English 

 
  

1. Badami is a famous mural painting and               
rock-cut cave site in Karnataka. Which of             
the following statements are correct ?  

1. The excavation of the Badami caves           
was patronized by Chalukyas. 

2. In these caves, images of Shaivism,           
Vaishnavism and Jainism are carved. 

3. Indra is also painted in the cave. 

Select the correct answer using the codes               
given below :  

(a)     1 and 2 only 

(b)     2 and 3 only 

(c)     1 and 3 only 

(d)     1, 2 and 3   

 

2. ​Which of the following statements is / are                 
true with reference to the Iqtadari system             
during Delhi Sultanate ?  

1. From Balban's time, muqti was         
expected to send the balance income           
(fawazil) ​collected to the centre after           
meeting his and the army’s expenses. 

2. In Feroz Shah Tughlaq's reign the           
control of state over iqtas was diluted             
when iqtas became hereditary.  

Select the correct answer using the codes               
given below :  
(a)   1 only  
(b)   2 only 
(c)    Both 1 and 2  
(d)   Neither 1 nor 2 

3. ​Consider the following statements         
regarding the removal of President and           
Vice- President. 

1. The resolution for removing the         
Vice-President of India can be moved           
in either house of the Parliament. 

2. Impeachment motion for the removal         
of the President can be initiated only             
in Lok Sabha. 

Which of the above statements is / are               
correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2  

 

 

4. A significant development at Lucknow in             
1916 was the coming together of the             
Muslim League and the Congress. Which           
of the following reasons is/ are correct for               
the shift in the League’s position? 

1. Anti-imperialist sentiments among     
the young cadre of Muslim League. 

2. Goal of self-government similar to         
that of the Congress brought both           
sides closer. 

3. Britain’s refusal to help Turkey in its             
wars in the Balkans. 

Select the correct answer using the codes             
given below : 
(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 
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5. ​िन��ल�खत म� से �वराजवािदयों के बारे म� कौन�सा /                     
स ेक�थन सही ह ै/ ह�? 

1. लाला लाजपत राय और मदन मोहन मालवीय             
�वराजवािदयों म� �िति�यावाद� थ े।   

2. �वराजवािदयों के पास बाहर के जन संघष� के               
सा�थ िव�धान सभाओं के अंदर अपनी सि�यता             
को सम��वत करन ेके �लए नीित का अभाव था। 

3. बाद म�, पाट� म� सां�दाियक िहतों को दज� िकया                 
गया। 

        नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :   

(a)   केवल 1 और 2 

(b)   केवल 1 

(c)    केवल 1 और 3 

(d)   1, 2 और 3 

 

6. ​मोंटे�यू के बयान पर भारतीय नतेाओं क� आप��याँ थीं,                   
इस संदभ� म� िन��ल�खत म� से कौन�सा/ से कारण                 
सही ह/ै ह�? 

1. कोई िवशषे समय सीमा नहीं द� गई थी। 

2. एक �ज�मदेार सरकार क� �कृित और गठन क�               
िदशा म� आगे बढ़ने का समय �सफ� सरकार को                 
ही तय करना था। 

        नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :   

(a) केवल 1   

(b) केवल 2 

(c) 1 और 2 दोनों 

(d) न तो 1, न ही 2 

7. िवजयनगर सा�ा� के संबंध म� अ��ल�खत क�थनों म�                 

स ेकौन�सा/ स ेक�थन सही  नहीं  ह/ै ह� ?   

1. "अ�िद�गज" के �प म� जाने जाने वाले आठ               
महान क�ड़ किव कृ�णदेवराय के दरबार को             
अलंकृत करत ेथ।े   

2. �ामीण �व�शासन क� चोल परंपराएँ िवजय नगर             
सा�ा� म� कमजोर हो गई थीं।   

       नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1   

(b) केवल 2 

(c) दोनों 1 और 2 

(d) न तो 1, न ही 2 

 

 

8. ​�ाचीन भारतीयों �ारा ग�णत और खगोल िव�ान के                 

��े म� िदय ेगए योगदान के संबंध म� िवचार क��जए : 

1�   अरबों �ारा भारतीय अंक �णाली को अपनाना। 

2. भारतीयों �ारा दशमलव �णाली का पहला             
उपयोग। 

3�   सयू� और चं� �हण के कारणों क� खोज। 

नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a)  केवल  1 और 2  

(b)   केवल 2 और 3  

(c)    केवल 1 और 3  

(d)   1, 2 और 3  
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5. Which of the following statements is/ are               
true about the Swarajists ? 

1. Lala Lajpat Rai and Madan Mohan           
Malaviya were the Responsivists among         
Swarajists. 

2. The Swarajists lacked a policy to           
coordinate their activism inside       
legislatures with the mass struggle         
outside. 

3. Communal interests entered in the         
party later. 

Select the correct answer using the codes               
given below : 

(a) 1  and 2 only 

(b) 1 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

6. ​There were objections of the Indian leaders               
to Montagu’s Statement, in this context           
which of the following reasons is/ are             
correct? 

1. No specific time frame was given. 

2. The government alone was to decide           
the nature and the timing of advance             
towards a responsible government. 

Select the correct answer using the codes               
given below : 

        (a) 1 only 

        (b) 2 only 

  (c) Both 1 and 2  

  (d) Neither 1 nor 2 

7. ​Which of the following statements are not               
correct regarding the Vijayanagara       
Empire? 

1. ‘Ashtadiggajas’, the eight Kannada       
poets were in the court of the emperor               
Sri Krishna Deva Raya. 

2. The Chola traditions of rural         
self-government were weakened in       
the Vijayanagara empire.   

Select the correct answer using the codes               
given below :  

(a) 1 only 

(b) 2 only  

(c) Both 1 and 2  

(d) Neither 1 nor 2 

 

 

8. Consider the following contributions of           
ancient Indians in the field of           
Mathematics and Astronomy:  

1. Adoption of Indian numeral system         
by the Arabs. 

2. First use of the decimal system by             
Indians. 

3. Discovery of cause of solar and lunar             
eclipse. 

Select the correct answer from the code             
given below :  
(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 
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9.  ​ ​जीवाण ुसमदुायों का उपयोग िकया जा सकता ह,ै 

1� खतरनाक कचरे को न� करन ेम� 

2� मानव इंस�ुलन के उ�पादन म� 

3� एंटीबायो�ट�स बनान ेम� 

4� बायोस�सर बनान ेम� 

नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a) केवल 1 और 2 

(b) केवल 1, 2, और 3 

(c) केवल 3 और 4 

(d) 1, 2, 3 और 4 

 

 

10. ​उपिनषदों के संदभ� म�, िन��ल�खत म� से कौन�सा                 

क�थन सही  नहीं  ह?ै 

(a) उपिनषद् का शा��दक अ�थ� है 'िनकट आना और                 

बठैना'। 

(b) इन �ंथों म� �श��कों और िव�ा� �थ�यों के म��य वाता�                   

का िववरण ह।ै 

(c)  य ेपवू� विैदक �ंथों का भाग थ।े 

(d)  उपयु��त म� स ेकोई नहीं। 

11. �ाम �यायालय के संदभ� म�, िन��ल�खत क�थनों पर                 
िवचार क��जए : 

1. यह आपरा��धक और द�वानी दोनों �यायालयों           
क� श��तयों का �योग करता ह।ै 

2. इसका पीठासीन अ��धकारी रा� सरकार �ारा           
संबं��धत रा� के उ�च �यायालय के परामश� से               
िनय�ुत िकया जाता ह।ै 

3. �ाम �यायलय के िनण�यों के �खलाफ कोई             
अपील नहीं क� जा सकती। 

       उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह�? 

(a)  केवल 1 

(b)  केवल 1 और 2 

(c)  केवल 2 

(d)  1, 2 और 3 

 

12. ​इ�क�स वष� क� आयु म�, उ�ह� फोट� िव�लयम का� लजे                   
�ारा बंगाली �सखाने के �लए आमंि�त िकया गया               
था। उ�होंने सं�कृत �याकरण पर दो प�ुतक� ,             
"उप�म�णका" और "�याकरणम कौमदु�" �लखीं।         
उ�होंने िव�धवा पनुि �व�वाह के �लए अ�भयान चलाया             
और एक उदाहरण �थािपत करने के �लए, अपने प�ु                 
का िववाह एक िव�धवा स ेकर िदया। व ेथ े� 

(a) �ोितबा फुल े  

(b) आचाय� िवनोबा भाव े 

(c) ई��र चं� िव�ासागर   

(d) िव�ण ुपंिडत शा�ी 
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9. ​  Bacterial communities can be used 

1. In degrading hazardous waste. 

2. In producing human insulin. 

3. In making antibiotics. 

4. In making biosensors.  

Select the correct answer using the code             

given below:  

(a) 1 and 2 only 

(b) 1, 2, and 3 only 

(c) 3 and 4 only 

(d) 1, 2, 3 and 4  

 

 

10. ​With reference to Upanishads, which one             

of the following statements is not correct ? 

(a) Upanishad literally means     
‘approaching and sitting near’. 

(b) The texts contain conversations       
between teachers and students. 

(c) These were part of the early Vedic             
texts. 

(d) None of the above 

 

11. ​With reference to the Gram Nyayalaya,             
consider the following statements: 

1. It exercises the powers of both           
Criminal and Civil Courts. 

2. Its presiding officer is appointed by           
the state government in consultation         
with the High Court of the state             
concerned. 

3. No appeal can be made against the             
decisions of the Gram Nyayalaya. 

Which of the statements given above is/ are                 
correct? 

(a)   1 only 

(b)   1 and 2 only 

(c) 2 only 

(d)   1, 2 and 3 

 

 

12. At the age of twenty-one, he was invited                 
by the Fort William College to teach             
Bengali. He wrote two books on Sanskrit             
Grammar, “Upakramonika” and     
“Byakaranam Koumudi”. He campaigned       
for widow remarriage and to set an             
example, he married his son to an             
adolescent widow in 1870. He was   

(a) Veeresalingam Pantulu   

(b) Keshab Chandra Sen 

(c) Ishwar Chandra Vidyasagar  

(d) Debendranath Tagore  
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13. ​चोल �शासन के िवषय म� िन��ल�खत म� से कौन�सा                   
क�थन सही  नहीं   ह?ै 

(a) चोल राजप�रवार ने इस �स�ांत का पालन िकया                 
िक बड़ा प�ु राजा के बाद चोल � �स�हासन का                 
उ�रा��धकारी होता था। 

(b) उ�होंने िववाह जसैे औपचा�रक अवसरों पर श�ुक               
लगाया। 

(c) अ�य द���ण भारतीय रा�ों के िवपरीत �यापार म�                 
द��ता को बढ़ावा देने के �लए टोल और सीमा                 
श�ुक स े�यापार को छूट द� गई थी। 

(d) राज�व उ�प� करने के �लए चोल �शासन के                 
दौरान जंगलों, खानों और बंदरगाहों पर कर             
लगाया गया था। 

 

14. ​�ा� ितकारी आंदोलन के संदभ� म�, िन��ल�खत म� से                 

कौन�सा/ स ेय�ुम सही समु�ेलत ह/ै ह� ?  

           ​�ा� ितकारी                                           �े�     

1� मदन लाल ढ�ंगरा                      :           ब� �ल�न   

2� बरकत�ुलाह भोपाली                :           काबलु   

3� वी� जी� ि �प�गल े                        :            लंदन   

       ​कूट: 

(a) केवल 1 और 2  

(b) केवल 2 और 3  

(c) केवल 2   

(d) 1, 2 और 3  

 

15. मौ�लक कत��यों के संदभ� म�, िन��ल�खत क�थनों पर                 
िवचार क��जए : 

1. मौ�लक कत��य, नाग�रक कत��यों के सा�थ सा�थ               
निैतक कत��यों को भी �थान देत ेह�। 

2. कुछ मलूभतू कत��यों का िव�तार िवदे�शयों तक               
भी होता ह।ै 

उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै  ह�? 

(a) केवल 1  

(b) केवल 2 

(c) दोनों 1 और 2 

(d) न तो 1, न ही 2 

 

16. ​िन��ल�खत म� से िकस मामले म� रा�पाल म�ुयमं�ी                 

क� िनय�ु�त करने म� अपने �य��तगत िववके का               

�योग कर सकत ेह� ? 

1. जब िकसी भी राजनीितक दल के पास �प�               

ब�मत नहीं ह।ै 

2. जब म�ुयमं�ी क� पद पर रहते �ए म�ृु हो                 

जाती ह।ै 

नीच ेिदए गए कूट का उपयोग करके सही उ�र चिुनए:   

(a) केवल 1 

(b) केवल 2 

(c) 1 और 2 दोनों 

(d) न तो 1, न ही 2 
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13. Which of the following statements about             

the Chola administration is ​not​ correct? 

(a) The Chola royal family followed the           
principle that eldest son should succeed           
the king to the Chola throne. 

(b) They levied duties on ceremonial         
occasions like marriages. 

(c) Trade was exempted from tolls and           
customs to promote efficiency in trade           
unlike other South Indian Kingdoms. 

(d) Forests, mines and ports were taxed           
during the Chola administration to         
generate revenue. 

 

14. ​With reference to the Revolutionary           

Movement, which of the following pairs           

are correctly matched? 

       ​ Revolutionary                                Region   

1. Madan Lal Dhingra           :        Berlin   

2. Baraktullah Bhopali          :       Kabul  

3. V. G. Pingley                      :       London   

  Code:  

(a) 1 and 2 only   

(b) 2 and 3 only  

(c) 2 only   

(d) 1, 2 and 3   

15. ​With reference to Fundamental Duties,           
consider the following statements: 

1. Fundamental duties place civic as well             
as moral duties on the citizen. 

2. Some fundamental duties also extend           
to foreigners. 

Which of the statements given above is/             
are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2  

 

 

16. Under which of the following cases can the                 
Governor use his individual discretion in           
appointing Chief Minister? 

1. When no political party has a clear             
majority. 

2. When the Chief Minister in office dies             
suddenly. 

Select the correct answer using the code             
given below. 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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17. ​िन��ल�खत म� से कौन�सा/ से क�थन गांधार कला के                   

संदभ� म� सही ह/ै ह�? 

1�   इसका �मखु िवषय महायानवाद था। 

2�   य�था�थ�वाद इसक� �मखु िवशषेता थी। 

      नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a)  केवल 1 

(b)  केवल 2 

(c)  दोनों 1 और 2 

(d)  न तो 1, न ही 2 

 

18. ​खयाल संगीत के बारे म� िन��ल�खत म� से कौन�से                   
क�थन सही ह� ? 

1. इसक� उ�प�� का �ये अमीर खसुरो को िदया                 
जाता ह।ै 

2�    खयाल क� थीम �वभाव स े�मेपणू� ह।ै 

3. खयाल, कलाकारों क� क�पना पर आ�धा�रत है               
और आश ुरचनाओं क� अनमुित देता ह।ै 

       नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a)   केवल  1 और 2 

(b)   केवल 2 और 3 

(c)    केवल 1 और 3 

(d)   1, 2 और 3 

19. िन��ल�खत म� से कौन�से जाित संघों व आंदोलनों का                   

�ितिन��ध�व करत ेथ े? 

1�   ज��टस पाट� 

2�   यिूनयिन�ट पाट� (फ़ज़ल े�सनै के नते�ृव म�) 

3�   आ�मस�मान आंदोलन  

4�   रामोसी आंदोलन 

      नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1 और 2  

(b) केवल 2 और 3  

(c) केवल 1, 2 और 3 

(d) 1, 2, 3 और 4  

 

20. ​भारत के संिव�धान के िन��ल�खत �ाव�धानों म� से                 
कौन�सा संशो�धन संसद म� सा�धारण ब�मत से िकया               
जा सकता ह ै? 

(a)  मौ�लक अ��धकार 

(b)   रा� के नीित िनदेशक �स�ांत 

(c)    नाग�रकता 

(d)   संघ क� काय�कारी श��तयों का िव�तार  
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17. Which of the following statements is / are                 
correct about Gandhara art? 

1.    Its major theme was Mahayanism. 

2.    Realism was its dominant feature. 

Select the correct answer using the codes             
below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

18. ​Which of the following statements are             
correct with reference to Khayal music           
form? 

1. Its origin is attributed to Amir           
Khusrow. 

2. Theme of Khayal is romantic in           
nature. 

3. Khayal is based on the imagination           
of performers and allows       
improvisations. 

Select the correct answer using the codes               
given below :  

(a)   1 and 2 only  

(b)   2 and 3 only 

(c)    1 and 3 only 

(d)   1, 2 and 3   

19. ​Which of the following represent caste             

associations and movements? 

1.    Justice Party 

2.    Unionist Party under Fazl-i-Hussain 

3.    Self-respect movement 

4.    Ramosi movement 

Select the correct answer using the codes               

given below : 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 1, 2 and 3 only 

(d) 1, 2, 3 and 4 

 

 

20. Which of the following provisions of the               

Constitution of India can be amended by             

simple majority in Parliament? 

(a)   Fundamental Rights 

(b)   Directive Principles of the State Policy 

(c)   Citizenship 

(d) Extent of the executive powers of the               

Union 
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21. ​नहे� �रपोट� के संदभ� म�, िन��ल�खत म� से कौन�से                   

क�थन सही ह� ? 

1. मसुलमानों के �लए सीटों के आर��ण के सा�थ               

संय�ुत िनवा�चन क� मांग। 

2. पणू� �वतं�ता और भाषाई आ�धार पर �ांत क�               

माँग। 

3. ज�े एल� नहे� के नते�ृव म� का� �से का यवुा वग�                   

�रपोट� स ेनाखशु था।  

नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :   

(a) केवल 1 और 2 

(b) केवल 1 और 3 

(c) 1, 2 और 3 

(d) केवल 2 और 3 

 

22. ​��धानमं�ी िन��ल�खत म� से िकसके �भारी/ �मखु               
होत ेह�? 

1� नीित आयोग 

2� भारतीय व�यजीव बोड� 

3� ��ेीय प�रषद� 

4� परमाण ुऊजा� िवभाग 

नीचे िदए गए कूट का उपयोग करके सही उ�र का                     

चयन क��जए :  

 

(a)  केवल 1 और 3  

(b)  केवल 1, 2 और 3 

(c)  केवल 2, 3 और 4  

(d)  केवल 1, 2 और 4  

 

 

23. खा� उ�पादों क� पिै �क�ग म� लगे लबेल म� कभी�कभी                   

'�ोस�ेड बाइ इरेिडएशन मथेड' (�द�पन िव��ध �ारा             

�सं�कृत) �लखा होता ह,ै िन��ल�खत म� से कौन�सा/               

स ेक�थन इरेिडएशन(�द�पन) के संबंध म� सही ह/ै ह�? 

1. इसका उपयोग खा� पदा�थ� को पा��ुरीकृत और               

क�टाण ुरिहत करन ेके �लए िकया जाता ह।ै 

2. ऊ�मन के िवपरीत, इससे भोजन क� ताजगी और                 

�कृित म� अ�तर नहीं आता ह।ै 

3. इरेिडएशन के �लए ए�स या गामा िकरणों का                 

उपयोग िकया जा सकता ह।ै 

       नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1 और 2  

(b) केवल 1 और 3  

(c) केवल 2 और 3  

(d) 1, 2 और 3 
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21. Which of the following statements are             
correct with reference to the Nehru           
Report? 

1. Demand for joint electorates with         
reservation of seats for Muslims. 

2. Linguistic provinces and Demand for         
full independence. 

3. Younger section of the Congress led by             
J. L. Nehru was unhappy with the             
report 

Select the correct answer using the codes               
given below : 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 1, 2 and 3 

(d) 2 and 3 only  

 

22. ​The Prime Minister is in-charge/Head of             
which of the following? 

1. National Institute for Transforming       
India (NITI) 

2.     National Board for Wildlife 

3.     Zonal Councils 

4.     Department of Atomic Energy 

Select the correct answer using the code               
given below. 
 

 

(a)   1 and 3 only 

(b)   1, 2 and 3 only 

(c)    2, 3 and 4 only 

(d)   1, 2 and 4 only 

 

23. ​The label of the food products sometimes               

has "Processed by Irradiation Method".         

Which of the following is/ are correct             

regarding 'irradiation'? 

1. It is used to pasteurise and sterilise               

foods. 

2. It doesn't cause change in freshness and               

texture of food, unlike heat. 

3. X-rays or gamma rays can be used for                 

the irradiation process. 

Select the correct answer using the code               
given below: 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 
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24. ​पमा�क�र (Permaculture) का संबंध िन��ल�खत           

म� स ेिकसस ेह ै?   

(a) परजीवी तं�ों का उपयोग करके महासागरों म�             
तले��रसाव का उपचार करना।   

(b) धारणीय कृिष पा�र��थितक तं� का िवकास। 

(c) कृिष उ�पादकता बढ़ाने के �लए जने�ेटक �प से               
संशो��धत �जाितयों का उपयोग।   

(d) पमा��ा� �ट (Permafrost) से ��त ��ेों के �लए             
कृिष समा�धान िवक�सत करना।  

 

25. ​मगुलकाल के दौरान इ�तमेाल क� जाने वाली               
वा�तकुला तकनीक, 'िपएट� ा �रूा' के संदभ� म�             
िन��ल�खत क�थनों म� से कौन�सा/ से क�थन सही ह/ै                 
ह� ? 

1. यह ��था जहाँगीर के शासनकाल के आ�ख़री             
दौर म� �ार� �ई। 

2. यह अ���म�ूयवान प�रों से बने फूलों के             
िडज़ाइन से द�वारों को सजाने क� एक परंपरा               
ह।ै 

3. सव���थम शाहजहाँ के समय ताजमहल म� इस             
तकनीक का बड़े पमैाने पर �योग िकया गया               
था। 

      नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a)   केवल 1 और 2 

(b)   केवल 1 और 3 

(c) केवल 2 

(d)   1, 2 और 3  

26. 19वीं शता�द� म� भारतीय रेलवे के िवकास के संदभ� म�                     
िन��ल�खत म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ? 

1. भारत से क�चे माल के िनया�त हतेु उ�पादन ��ेों                   
को बंदरगाहों से जोड़ने के उ��ेय से रेलवे को                 
�थािपत िकया गया था। 

2. भारतीय रेलवे म� भारतीय पूँजी िनवशेकों को               
भारी नकुसान का सामना करना पड़ा �ोंिक             
उनको गारंटीकृत �याज �ा�त नहीं �आ था।   

      नीच ेिदए गए कूट का उपयोग करके सही उ�र चिुनए:  

(a) केवल 1 

(b) केवल 2 

(c) 1 और 2 दोनों  

(d) न तो 1, न ही 2 

 

27. भारतीय संिव�धान क� ��तावना के संदभ� म�,               
िन��ल�खत म� स ेकौन�सा य�ुम सही समु�ेलत ह ै? 

1. ​समानता : भारत के सभी नाग�रकों के बीच                 
सभी भदेभावों को �र करना। 

2. ​धम�िनरपे� : सरकार �ारा धम� के मामलों म�                 
ह�त��ेप न करना। 

3. ​गणतं� ​: रा� �मखु का अ���� �प से                 
िनवा��चत होना। 

         नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a) केवल 1 

(b) केवल 3 

(c) 1, 2 और 3 

(d) उपयु��त म� स ेकोई नहीं 
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24. ​Permaculture is concerned with 

(a) Treatment of oil-spill in oceans by             
parasitic mechanisms. 

(b) Development of sustainable       
agricultural ecosystems. 

(c) Use of genetically modified organisms           
to increase agricultural productivity. 

(d) Developing agricultural solutions for         
areas suffering from permafrost. 

 

25. ​Which of the statements given above is/are               
correct about 'Pietra dura', a technique of             
architecture used during mughal period? 

1. The practice began during the end of               
Jahangir’s reign. 

2. It is the practice of decorating the               
walls with floral designs made of semi             
precious stones. 

3. Shahjahan, for the first time, used it               
on a large scale in the Taj Mahal. 

Select the correct answer using the codes               
given below :  

(a) 1 and 2 only 
(b) 1 and 3 only 
(c) 2 only 
(d) 1, 2 and 3  

 

26. ​Which of the following statements about             

the development of Indian railways in the             

19th century is/ are correct ? 

 

1. The railways were established with a             
view to link India's raw material           
producing areas in the interior with           
the ports of export. 

2. The Indian capital investors in the             
Indian Railways suffered huge losses         
for the interest guaranteed to them           
was not paid back. 

Select the correct answer using the codes               
below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

27. ​With reference to the Preamble of the               
Indian Constitution, which of the         
following are correctly matched? 

1. Equality ​: removing all the differences               
among the citizens of India. 

2. ​Secular ​: government will not           
interfere at all in the matters of             
religion. 

3. ​Republic : the Head of the State is an                   
indirectly elected person. 

Which of the statements given above is /               
are correct? 

(a) 1 only 

(b) 3 only 

(c) 1, 2 and 3 

(d) None of the above 
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28. बलात् धम� प�रवत�न संिव�धान के अन�ेुद 25 के तहत                   

िन��ल�खत म� से िकस अ��धकार का अित�मण करता               

ह ै? 

(a) अ�तःकरण क� �वतं�ता  

(b) िकसी भी धम� को मानन े

(c) िकसी भी धम� का आचरण करन े 

(d) िकसी भी धम� का �चार  

 

 

29. ​  िन��ल�खत क�थनों पर िवचार क��जए :  

1. भारत म� एकल नाग�रकता ह।ै 

2. रा� के िव�धेयकों पर रा�� पित को पणू� वीटो               
�ा�त ह।ै 

3. संघ िकसी भी रा� क� सहमित के िबना िकसी                 
रा� का नाम, ��े व सीमा बदल सकता ह।ै 

4. संिव�धान देश क� सव��च िव��ध ह।ै 

उपयु��त म� से िकसक� अनपु��थित म� भारतीय             

संिव�धान �कृित म� और अ��धक संघीय होगा? 

(a)   केवल 1 और 2 

(b)   केवल 3 और 4 

(c)    केवल 1, 2 और 3 

(d)    केवल 1, 3 और 4 

 

30. ​� �स�धु घाटी स�यता म� िन��ल�खत म� से िकसके िनमा�ण                   

म� ल�ुत मोम तकनीक (​lost wax technique) ​का               

�मखुता स ेउपयोग िकया गया था? 

(a)  �च�कारी  

(b)  मिू �त�याँ 

(c)  आभषूण 

(d)  बत�न 

 

31. ​अंतरा��ीय प�रषद् के िवषय म� िन��ल�खत क�थनों पर                 

िवचार क��जए :  

1�     यह एक �थायी संवधैािनक िनकाय ह।ै 

2. प�रषद् के कत��यों को संसद �ारा िन�धा��रत िकया                 

जाता ह।ै 

3. अंतरा��ीय प�रषद् �ारा िदया गया िनण�य             

प��कारों के �लए बा��यकारी होता ह।ै 

उपयु��त म� स ेकौन�सा/ स ेक�थन सही  नहीं   ह/ै ह�? 

(a) केवल 2 

(b) केवल 3 

(c) केवल 1 और 3 

(d) 1, 2 और 3  
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28. ​Forcible conversions impinge upon which           

of the following rights guaranteed under           

Article 25 of the Constitution? 

(a)  Freedom of Conscience 

(b)  Right to Profess 

(c)  Right to Practice 

(d)  Right to Propagate 

 

29. ​  ​Consider the following statements: 

1.  There is single citizenship in India. 

2. The President enjoys absolute veto           
over State bills. 

3. The Union can change the name, area               
and boundary of a State without its             
content. 

4. The Constitution is the supreme law of               
the land. 

Which of the above, if absent, would make                 
the Indian Constitution more federal in           
nature? 

(a)   1 and 2 only 

(b)   3 and 4 only 

(c) 1, 2 and 3 only 

(d)   1, 3 and 4 only 

 

30. With reference to Indus Valley Civilization,             

the lost wax technique was prominently           

used in making  

(a) Paintings 

(b) Sculptures 

(c) Ornaments 

(d) Pottery 

 

31. Consider the following statements about           
the Inter-State Council (ISC) :  

1.     It is a permanent constitutional body. 

2. The nature of duties to be performed               
by the council is to be decided by the                 
Parliament. 

3. The decisions, given by the ISC, are               
binding on the parties. 

Which of the statements given above is/             

are ​not ​correct? 

(a) 2 only 

(b) 3 only 

(c) 1 and 3 only 

(d) 1, 2 and 3   
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32. ​िन��ल�खत क�थनों पर िवचार क��जए : 

1. दसवीं अनसुचूी के अंतग�त िकसी संसद सद�य               
क� अयो�यता पर सभापित या लोकसभा अ��य��             
का िनण�य �याियक समी��ा के अ�धीन होता ह।ै 

2. यिद अयो�य उ�मीदवार संसद के �लए चनु �लया                 
जाता ह,ै तो म�ुय चनुाव आय�ुत के परामश� पर                 
रा�� पित उसके चनुाव को र� कर सकता ह।ै 

उपयु��त म� स ेकौन�सा / स ेक�थन सही ह ै/  ह�? 

(a) केवल 1 

(b) केवल 2 

(c) 1 और 2 दोनों  

(d) न तो 1, न ही 2 

 

33. ​यिद भारत का ��धान मं�ी संसद के उ�च सदन से                     
संबं��धत है तो िन��ल�खत म� से कौन�सा क�थन सही                 
होगा ? 

1�     वह िन� सदन म� बजट पर नहीं बोल सकता। 

2. अिव��ास ��ताव क� ��थित म� वह मतदान नहीं                 
कर सकता। 

3. वह संसद म� संिव�धान संशो�धन िव�धेयक पशे नहीं                 
कर सकता। 

       नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a) केवल 1 और 2 

(b) केवल 2 

(c) केवल 1 और 3 

(d) 1, 2 और 3  

34. ​''पनुि �व�चार या�चका" के संदभ� म�, िन��ल�खत क�थनों               

पर िवचार क��जए : 

1. या�चकाओं पर पनुि �व�चार करने क� शीष�           

अदालत क� श��त का उ�लखे संिव�धान म� नहीं               

ह।ै 

2. पनुि �व�चार या�चका के प��ात ही उ�चतम           

�यायालय सबरीमाला म�ुे पर अपने फैसले क�             

समी��ा करन ेपर सहमत �आ। 

उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ? 

(a) केवल 1 

(b) केवल 2 

(c) 1 और 2 दोनों  

(d) न तो 1, न ही 2 

 

 

35. ​हाल ही म� �ट� ीट हाॅकर सं�कृित को यनू�ेको क� अमतू�                     

सां�कृितक िवरासत घोिषत िकया गया ह।ै यह             

संबं��धत ह ै

(a) बां�लादेश क� ह�त�श�प कला स े 

(b) भटूान क� ज़जोंग वा�तकुला स े

(c) � �स�गापरु के �ट� ीट फूड स े 

(d) उपयु��त म� स ेकोई नहीं  
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32. ​  Consider the following statements: 

1. Decision of the Chairman/ Speaker of             
disqualification of a Member of         
Parliament under the Tenth       
Schedule is subject to judicial         
review. 

2. The President, on the advice of the               
Chief Election Commissioner, is       
authorized to declare the election         
void if a disqualified candidate is           
elected to the Parliament. 

Which of the above statements is / are               
correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

33. ​Which of the following statements will be               
true if the Prime Minister of India             
belonged to the Upper House of           
Parliament? 

1. He will not be able to speak on the                   
budget in the Lower house. 

2. He will not be able to vote in his                   
favour in the event of a no confidence               
motion. 

3. He will not be able to present a                 
constitutional amendment bill in the         
Parliament. 

  Which of the above statements is/ are correct? 

 

(a) 1 and 2 only 

(b) 2 only 

(c) 1 and 3 only 

(d) 1, 2 and 3 

 

34. ​Consider the following statements about           
“Review Petition”: 

1. The power of the apex court to review                 
petitions is not mentioned in the           
Constitution. 

2. The Supreme Court agreed to review             
its Sabarimala verdict following a         
Review Petition. 

Which of the statements given above is /                 
are correct?   

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

35. ​Recently, the street hawker culture has             
been declared a UNESCO Intangible         
Cultural Heritage. It is related to 

(a) Bangladesh's handicraft art 

(b) Bhutan's Zajong architecture 

(c) Singaporean street food 

(d) None of the above 
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36. ​वष� 1947 के भारतीय �वतं�ता अ��धिनयम के अनसुार,                 
भारत का गवन�र जनरल चनु ेजान ेक� शत� थी  

(a) वह भारत क� पहली संिव�धान सभा या क� �ीय               

िव�धान सभा �ारा िनवा��चत होगा। 

(b) वह काय�कारी प�रषद् क� सलाह पर वायसराय             

�ारा िनय�ुत िकया जाएगा। 

(c) वह डो�मिनयन कैिबनटे क� सलाह पर ि��टश             

स�ाट �ारा िनय�ुत िकया जाएगा। 

(d) वह वायसराय क� �सफा�रश पर डो�मिनयन           

कैिबनटे �ारा ना�मत िकया जाएगा। 

 

37. ​कैिबनटे स�मितयों के बारे म� िन��ल�खत क�थनों पर                 
िवचार क��जए : 

1. इन स�मितयों का संिव�धान म� उ�लखे नहीं ह।ै 

2. इनम� आमतौर पर केवल कैिबनटे मं�ी ही             

शा�मल होत ेह�। 

3. ये स�मितयाँ �म िवभाजन और �भावी           

�ितिन��ध�व  के �स�ांतों पर आ�धा�रत ह�। 

      उपयु��त म� स ेकौन�स ेक�थन सही ह� ?  

      (a)  केवल 2 और 3 

(b)  केवल 1 और 2 

(c)  केवल 1 और 3 

(d)  1, 2 और 3 

 

38. ​संघ लोक सवेा आयोग (य�ूपी�एस�सी�) के संदभ� म�,                 
िन��ल�खत क�थनों पर िवचार क��जए: 

1. य�ूपी�एस�सी� के सद�यों का वतेन, भ�ा और               
प�शन भारत के सं�चत िन��ध पर भा�रत होता ह।ै 

2. य�ूपी�एस�सी� का अ��य�� उसी आ�धार और उसी               
तरीके से हटाया जा सकता है �जस तरह से                 
स�ुीम कोट� के �याया�धीश को हटाया जाता ह ै। 

3. य�ूपी�एस�सी� का अ��य�� या सद�य �सरे             
काय�काल के �लए पा� नहीं होत ेह�। 

       उपयु��त म� स ेकौन�स ेक�थन सही ह� ? 

(a)  केवल 1 और 2 

(b)  केवल 2 और 3 

(c)  केवल 1 और 3 

(d)  1, 2 और 3 

 

 

39. ​िन��ल�खत म� से �ा संसद�य शासन �यव�था का                 
ल��ण ह ै? 

(a) �यव�थािपका का काय�पा�लका के �ित उ�रदायी             
होना। 

(b) काय�पा�लका का �यव�थािपका के �ित उ�रदायी             
होना। 

(c)   काय�पा�लका का �यव�थािपका स ेपृ�थ�करण।  

(d)   उपयु��त म� स ेकोई नहीं।  
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36. As per the Indian Independence Act of               
1947, the Governor General of India was             
to be 

(a) elected by the first Constituent           
Assembly or Central Legislative       
Assembly of India. 

(b) appointed by the Viceroy on the advice               
of the executive council. 

(c) appointed by the British Monarch         
on the advice of the dominion           
cabinet. 

(d) nominated by the dominion cabinet           
based on the recommendation of the           
Viceroy. 

 

37. ​Consider the following statements about           
Cabinet Committees: 

1. They are neither mentioned in the             
constitution nor in the Rules of           
Business of the Parliament. 

2. They usually include only Cabinet           
Ministers. 

3. They are based on the principles of               
division of labor and effective         
delegation. 

Which of the above statements is/are           
correct? 
(a)   2 and 3 only 

(b)   1 and 2 only 

(c)    1 and 3 only 

(d)   1, 2 and 3 

 

38. ​With reference to the Union Public Service               
Commission (UPSC), consider the following         
statements: 

1. Salary, allowance and pension of UPSC             
members are charged upon       
Consolidated Fund of India. 

2. The UPSC chairman can be removed on               
the grounds and in the manner           
similar to the judge of the Supreme             
Court. 

3. The chairman or a member of UPSC is                 
not eligible for a second term. 

Which of the statements given above are               
correct? 

(a)   1 and 2 only 

(b)   2 and 3 only 

(c) 1 and 3 only 

(d)   1, 2 and 3 

 

39. ​Which of the following is a feature of                 
Parliamentary Governance? 

(a) Legislature to be responsible to the             
Executive 

(b) Executive to be responsible to the             
Legislature 

(c) Separation of the Executive from           
Legislature 

(d)     None of the above   
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40. ​िन��ल�खत म� से �ा अ�थ��यव�था म� म�ुा आपिू �त� म�                   
कमी ला सकता ह ै? 

1. खलुे बाजार म� �रज़व� ब�क �ारा सरकारी बांड क�                   
खरीद। 

2�      भारतीय �रजव� ब�क �ारा बांड क� िब��। 

3�      भारतीय �रजव� ब�क �ारा ब�क दर म� कमी। 

4. भारतीय �रजव� ब�क �ारा आर���त अनपुात म�               
वृ��। 

         नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1  

(b) केवल 2 और 4 

(c) केवल 1, 3 और 4 

(d) केवल 1 और 3 

 

41. ' ​अ��धभार' के संदभ� म�, िन��ल�खत क�थनों पर िवचार                 
क��जए : 

1. यह एक िव�श� उ��ेय के �लए सरकार �ारा               
लगाया जाता ह।ै 

2. ​'अ��धभार' के मा��यम से अ� �ज�त राज�व को क� �                 
और रा�ों के बीच साझा िकया जाता ह।ै 

      उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह�? 

(a) केवल 1  

(b) केवल 2  

(c) 1 और 2 दोनों  

(d) न तो 1, न ही 2 

42. ​िन��ल�खत म� से कौन�सा/ से कारक �यनूतम सम�थ�न                 
म�ूय (MSP) के िन�धा�रण म� सहायक ह/ै ह�? 

1. उ�पादन क� लागत  

2. घरेलू और अंतरा��� ीय बाजारों म� म�ूयों का             
�झान  

3. अंतर�फसल म�ूय समता 

4. मांग और आपिू �त� 

     नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a)    केवल 1  

(b)    केवल 1, 2 और 3 

(c)    केवल 2, 3 और 4 

(d)    1, 2, 3 और 4  

 

43. ​भगुतान संतलुन (BoP) म� "अ��य संतलुन" के अंतग�त                 
िन��ल�खत म� स े�ा स��म�लत ह/ै ह�? 

1�  िवदेशी �वा�सयों �ारा �िेषत धन  

2�  साॅ�टवयेर सवेाओं का िनया�त 

3�  भारत म� ���� िवदेशी िनवशे 

    नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 2   

(b) केवल 1 और 2  

(c) केवल 3  

(d) 1, 2 और 3 
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40. Which of the following may lead to a                 
reduction in money supply in the           
economy? 

1. Purchase of govt bonds by the RBI in                 
the open market. 

2. Selling of a bond by the RBI. 

3. Reduction in Bank Rate by the RBI. 

4. Increased Reserve Ratio by the RBI. 

Select the correct answer using the codes               
given below: 

(a)    1 only 

(b)    2 and 4 only 

(c)    1, 3 and 4 only 

(d)    1 and 3 only 

 

41. ​With reference to 'surcharge', consider the             
following statements. 

1. It is levied by the Government for a               
specific purpose. 

2. The amount collected under       
‘surcharge’ is shared between the         
Centre and the States. 

Which of the above statements is/ are             
correct? 
(a)    1 only 

(b)    2 only 

(c)    Both 1 and 2 

(d)    Neither 1 nor 2 

 

42. ​Which of the following are the factors in                 
the determination of Minimum Support         
Prices (MSP). 

1. Cost of Production (CoP) 

2. Price trend in the domestic and           
international markets 

3. Inter-crop price parity 

4. Demand and supply 

Select the correct answer using the codes             
given below: 

(a)  1 only 

(b)  1 , 2 and 3 only 

(c)  2, 3 and 4 only 

(d)  1, 2, 3 and 4 

 

43. ​Which among the following is/ are             
accounted for under the "Balance of           
Invisibles" in the Balance of Payments           
(BoP)? 

1.  Remittance from overseas migrants 

2.  Export of software services 

3.  Foreign Direct Investment in India 

Select the correct answer using the code             
given below: 

(a) 2 only 

(b) 1 and 2 only 

(c) 3 only 

(d) 1, 2 and 3 
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44. ​�पये क� पणू� प�रवत�नीयता के िन��ल�खत म� से                 

कौन�स ेलाभ हो सकत ेह� ? 

1�     िव�ीय बाज़ारों म� तरलता क� व�ृ�   

2�     तटवत� म�ुा बाज़ार का िवकास 

3. भारतीय �रज़व� ब�क �ारा म�ुा िविनमय दर का                 

पणू� िन�धा�रण 

4�      िवदेशी पूँजी तक आसान प�चँ 

         नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

         (a)  केवल 1 और 2  

(b)  केवल 1, 2 और 4  

(c)  केवल 3 और 4  

(d)  1, 2, 3 और 4 

 

45. ​ ​'जनसं�या जाल' एक ऐसी ��थित ह ै�जसम�, 

(a) जनसं�या व�ृ�, आ� �थ�क िवकास से अ��धक             
होती ह।ै 

(b) बरेोजगारी भ�े बरेोजगारों को काम पर जाने के                 
�लए हतो�सािहत करत ेह�। 

(c) गरीबी उ�लून काय��म लोगों को लगातार             
गरीब बनाए रखत ेह�। 

(d) �जनन दर म� िगरावट आती है जो जनसं�या म�                   
िगरावट �ार� कर देती ह।ै 

 

 

46. ​भारत म� बौ��क संपदा अ��धकार (IPR) �यव�था के                 

संबंध म� िन��ल�खत क�थनों पर िवचार क��जए :  

1. भारत सरकार के वा�ण� मं�ालय के अंतग�त             

औ�ोिगक नीित एवं संव�ध�न िवभाग (DIPP) को             

भारत म� बौ��क संपदा अ��धकारों (IPR) के             

काया��वयन और भिव�य के िवकास के सम�वय,             

माग�दश�न और िनगरानी के �लए नोडल िवभाग             

बनाया गया ह।ै 

2. अिनवाय� लाइस�� �स�ग, पटे�ट�मा�लक क� सहमित         

लकेर पटे�ट आिव�कार के उपयोग, िनमा�ण,           

आयात या बचेने के �लए सरकार �ारा �द�               

अनमुित ह।ै 

3. भारत, बौ��क संपदा अ��धकारों (IPR) के           

क��थत उ�लंघन के �लए संय�ुत रा� अम�ेरका             

के �यापार �ितिन��ध (USTR) क� '�ा�थ�मकता           

िनगरानी सचूी' पर बना �आ ह।ै  

         उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह ै/ ह�? 

(a) केवल 1  

(b) केवल 1 और 3  

(c) केवल 2 और 3  

(d) 1, 2 और 3 
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44. Which of the following could be the               
advantages of a fully convertible Rupee? 

1. Increased liquidity in financial       
markets 

2. Development of onshore rupee market 

3. Complete determination of currency       
exchange rate by the RBI 

4. Easy access to foreign capital 

Select the correct answer using the code               
given below: 

(a) 1 and 2 only 

(b) 1, 2 and 4 only 

(c) 3 and 4 only 

(d) 1, 2, 3 and 4 

 

 

45. ​'Population trap' is a situation in which 

(a) population growth is greater than           
economic growth 

(b) unemployment benefits discourage the         
unemployed to go to work 

(c) poverty alleviation programmes keep         
people persistently poor 

(d) fertility rates have declined so much             
that population starts declining 

 

46. ​Consider the following statements with           

respect to the Intellectual Property Rights           

(IPR) regime in India. 

1. Department of Industrial Policy &         

Promotion (DIPP), Ministry of       

Commerce, Government of India, has         

been appointed as the nodal         

department to coordinate, guide and         

oversee the implementation and       

future development of IPRs in India. 

2. Compulsory Licensing is the grant of           

permission by the government to         

entities to use, manufacture, import         

or sell a patented invention by taking             

consent of the patent-owner. 

3. India continues to remain on the           

United States Trade Representative's       

(USTR’s) ‘Priority Watch List’ for         

alleged violations of intellectual       

property rights (IPR).  

Which of the statements given above             

is/are correct? 

(a) 1 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3  
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47. ​सरकार के��ीय साव�जिनक ��े के उप�मों म� िव�भ�                 

तरीकों से िविनवशे पर सि�य नीित का पालन कर रही                   

ह,ै इस संदभ� म� िन��ल�खत म� से कौन�से क�थन सही                   

ह�? 

1. अ��धक अ��धशषे वाले बड़े साव�जिनक उप�मों             

�ारा शयेरों क� वापसी खरीद (Buy back) 

2. समान ��े म� साव�जिनक उप�मों के बीच               

आपसी िवलय और अ��ध�हण 

3�       ए�सच�ज ट� ेडेड फंड (ETFs) का आर�  

4. अ�प िह�सदेारी क� िब�� के मा��यम से               

िविनवशे 

         नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1 और 2 

(b) केवल 1, 2 और 3 

(c) केवल 2 और 3 

(d) 1, 2, 3 और 4   

 

48. ​ ​"व�र फंड" आम तौर पर िनवशे करत ेह� � 

(a)  सनराइज ��े के �टाट��अप म�  

(b)  संग�ठत अपरा�ध को बढ़ावा देन ेवाली सं�थाओं म� 

(c)  तनाव��त संप��यों म� 

(d)  शयेर बाजारों के बड़े कैप सगेम�ट म� 

 

49. ​िन��ल�खत म� से कौन�से भारत म� स�ुत कर�जी डी पी                     
अनपुात के कारण हो सकत ेह� ? 

1. कम अनपुालन 

2. कम �ित �य��त आय 

3. कृिष आय म� कर छूट 

4. का� प�रेट आयकर क� उ�च दर� 

        नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a)  केवल 1 और 2 

(b)  केवल 2, 3 और 4 

(c)  केवल 1, 2 और 3 

(d)  1, 2, 3 और 4 

 

50. '�ट�ी चतेावनी संगठन (LWO)' के संबंध म�               
िन��ल�खत क�थनों पर िवचार क��जए :  

1. LWO को कृिष मं�ालय के पादप संर��ण             
संगरो�ध और भंडारण िनदेशालय के सा�थ           
समाम�ेलत िकया गया ह।ै 

2. अरब �ाय��प के बढ़ते तापमान और           
म��थलीकरण के कारण पािक�तान व भारत           
म� �वशे करने वाले �ट�ी दलों क� सं�या म�                 
भारी व�ृ� �ई ह।ै 

        उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह ै/ ह� ? 

(a) केवल 1 

(b) केवल 2 

(c) 1 और 2 दोनों 

(d) न तो 1, न ही 2 
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47. ​The Government has been following an             
active policy on disinvestment in CPSEs           
through the various modes, which of the             
following is correct in the context? 

1. Buy-back of shares by large PSUs           
having huge surplus. 

2. Merger and acquisitions among       
PSUs in the same sector. 

3. Launch of exchange traded funds         
(ETFs). 

4. Disinvestment through minority     
stake sale. 

Select the correct answer using the code               

given below : 

(a) 1 and 2 only 

(b) 1, 2 and 3 only 

(c) 2 and 3 only 

(d) 1, 2, 3 and 4  

 

 

48. ​ ​"Vulture funds" generally invest in 

(a) Upcoming start-ups in the sunrise           
sector 

(b) Institutions that promote organized         
crime 

(c)  Distressed assets 

(d) Large cap segment of the stock market 

 

49. ​Which among the following could be the               
reasons for the sluggish tax-to-GDP ratio           
in India? 

1. Lower compliances 

2. Lower per capita income 

3. Tax exemptions for agricultural       
income 

4. Higher corporate income tax rates 

Select the correct answer using the codes               
given below: 

(a)  1 and  2 

(b)   2, 3  and 4 

(c)   1, 2  and 3 

(d)   1, 2, 3  and 4 

 

50. Consider the following statements about           
‘Locust Warning Organisation (LWO)’:  

1. LWO is amalgamated with the           
Directorate of Plant Protection       
Quarantine and Storage (PPQS) of         
the Ministry of Agriculture. 

2. Due to the rising temperatures and             
more desertification in Arabian       
peninsula the frequency of Locust         
swarms entering Pakistan-India has       
increased. 

Which of the statements given above is/               
are correct? 

(a)  1 only 

(b)  2 only 

(c)  Both 1 and 2 

(d)  Neither 1 nor 2 
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51. ​भारत के िनया�त �वशेन (Export penetration) के               
संदभ� म�, िन��ल�खत म� से कौन�सा/ से क�थन सही                 
ह/ै ह�? 

1. उ�च आय वाले देशों के बाजारों म� भारत का                   
िनया�त �वशेन �प� �प से कम ह,ै और हाल                 
के दशकों के दौरान इसम� गरै�आनपुाितक           
अंतर स ेिगरावट �ई ह।ै 

2. कम आय वाले देश, सामा�यतः भारत के अकुशल                 
�म�गहन उ�पादों के �लए अप�ेाकृत बड़ा           
बाजार �दान करत ेह�। 

       नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 
(a)  केवल 1 

(b)  केवल 2 

(c)  1 और 2 दोनों  

(d)  न तो 1, न ही 2  

 

52. ​हाल के िदनों म�, भारतीय �रज़व� ब�क क� आर���त                     
पूँजी चचा� म� रही ह।ै �रजव� ब�क क� आर���त पूँजी के                     
िन��ल�खत म� स ेकौन�स ेघटक ह�? 

1� आक��कता िन��ध 

2� िनवशे पनुमू��यांकन खाता 

3� प�रसंप�� िवकास िन��ध 

4� म�ुा और �वण� पनुमू��यांकन खाता 

        नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1 और 2   

(b) केवल 2 और 4  

        (c) केवल 1, 3 और 4  

        (d) 1, 2, 3 और 4 

53. ​'मह�वपणू� आ� �थ�क उप��थित' (SEP) क� अव�धारणा             

िन��ल�खत म� स े�ा संद� �भ�त करती ह ै?   

(a) भारत म� अिनवा�सयों के िड�जटल मा��यमों म�             
िकए गए लने�देन से उ�प� आय पर कर               
लगाना।  

(b) 'मके इन इंिडया' पहल के अंतग�त अिनवासी             
भारतीयों को टै�रफ लाभ �दान करना। 

(c) भारत म� सोलर पनैल िविनमा�ण को बढ़ावा देने               
के �लए �टाट�अ�स को सहायता �दान करना। 

(d) ि��ो म�ुाओं पर �ितबंध लगाना और उनका             
िविनयमन करना। 

 

54. मछ�लयाँ भारत के प���मी तट से �र गहरे सागर क�                     

ओर जा रही ह�। इसका सबसे उपय�ुत कारण �ा हो                   

सकता/ सकत ेह/ै ह� ? 

1. जल म� नाइट� ोजन सं�षण क� व�ृ�। 

2. जल म� आॅ�सीजन क� कमी �जसे           

'हाइपो��सया' कहत ेह� । 

3. व�ै��क ऊ�मन का �भाव। 

        नीच ेिदए गए कूट का �योग पर सही उ�र चिुनए:   

(a)  केवल 1 

(b)  केवल 1 और 2 

(c)  केवल 2 और 3 

(d)  1, 2 और 3 
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51. ​Which of the following statements is/ are               
correct with reference to India’s Export           
penetration? 

1. India’s export penetration in       
high-income countries is perceptibly       
low, and has declined       
disproportionately during the recent       
decades. 

2. Low-income countries generally     
provide a relatively larger market for           
India’s unskilled labour-intensive     
products. 

Select the correct answer using the codes               
given below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

52. ​Capital Reserves with RBI were recently               
seen in the news. Which of the following               
are the components of RBI Capital           
Reserves? 

1. Contingency Fund 

2. Investment Revaluation Account 

3. Asset Development Fund 

4. Currency and Gold Revaluation         

Account 

Select the correct answer using the code             
given below: 

(a) 1 and 2 only 

(b) 2 and 4 only 

(c) 1, 3 and 4 only 

(d) 1, 2, 3 and 4 

 

53. ​Concept of ‘Significant Economic Presence’           
(SEP) refers to 

(a) Taxing the income of the         
non-residents in India arising from         
transactions through digital means. 

(b) Providing tariff benefits to NRIs         
under make-in India Initiative. 

(c) Assisting aid to startups to promote           
Solar panels manufacturing in India. 

(d) Banning and regulation of crypto         
currencies. 

 

54. Fish are moving away from waters off the                 
western coast of India. What may be the               
most appropriate cited reason(s) ? 

1. Increasing nitrogen contamination     
of water 

2. Reduction of oxygen in water called           
‘hypoxia’ 

3. Impact of global warming 

  Select the correct answer using the code             
given below.   

  (a)  1 only 

  (b)  1 and 2 only 

  (c)  2 and 3 only 

  (d)  1, 2 and 3 
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55. ' ​िदवाला और शो�धन अ��मता संिहता' (इनसाॅ�व�सी             
एंड ब�कर�सी कोड), 2016 के संदभ� म�, िन��ल�खत म�                 
स ेकौन�सा/ स ेक�थन सही ह/ै ह�? 

1. यह िदवाला और शो�धन अ��मता काय�वाही के             
वा�ण��क पहलओंु को �याियक पहलओंु से           
अलग करता ह।ै 

2. इसके अंतग�त बनाए गए ऋण वसलूी           
�याया��धकरण (DRT) का �य��तयों पर कोई           
अ��धकार ��े नहीं ह।ै 

नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1  

(b) केवल 2  

(c) 1 और 2 दोनों  

(d) न तो 1, न ही 2 

 

56. ​"राइस फो� �ट�िफकेशन" के िवषय म� िन��ल�खत क�थनों               
पर िवचार क��जए : 

1. फो� �ट�फाइड चावल म� िवटा�मन ए, िवटा�मन बी               
1, िवटा�मन बी 12, फो�लक ए�सड, आयरन             
और � �ज�क होता ह।ै  

2. फो� �ट�िफकेशन के �लए जने�ेटक इंजीिनय� �र�ग           
तकनीक का उपयोग िकया जाता ह।ै 

उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ? 

(a)       केवल 1 

(b)       केवल 2 

(c)       1 और 2 दोनों  

(d)       न तो 1, न ही 2 

57. ​आ� �थ�क गितिव��धयों म� 'बाजार के अ��य हा�थ’ के                 
मह�व पर जोर िदया जाता ह।ै यह �ा दशा�ता ह ै? 

(a) बाजार म� खलुापन लाना �जससे धन सजृन होता                 

ह।ै 

(b) �टाट� अप म� व�ृ� के मा��यम से समावशेी                 

िवकास। 

(c) अ���� कर आ� �थ�क ��थरता क� ��थित क�               

पहचान करन ेम� मह�वपणू� भ�ूमका िनभात ेह�। 

(d) िनया�त व�ृ� म� लघु एवं म��यम उ�ोगों त�था                 

असंग�ठत ��े क� भ�ूमका। 

 

58. भारत क� ितलहनी फसलों के संदभ� म�, िन��ल�खत                 

क�थनों पर िवचार क��जए : 

1. मूं गफली को आमतौर पर वषा��आ�धा�रत         

(रेन�फेड) फसल के �प म� उगाया जाता ह।ै 

2. उ�र भारत म� ितल को खरीफ क� फसल के                 

�प म� उगाया जाता है जबिक द���ण भारत म�                 

रबी क� फसल के �प म�। 

          उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ? 

 (a) केवल 1 

 (b) केवल 2 

 (c) 1 और 2 दोनों  

          (d)    न तो 1, न ही 2 

 

 
 

Address:​ 631, Ground Floor,                                                    ​Contact :​        742808557/58 
Dr. Mukherjee Nagar, Delhi-110009                                          ​Web :​ ​www.sanskriti​IAS​.com  
                                                                        ​30  
 

http://www.sanskritiias.com/
http://www.sanskritiias.com/
http://www.sanskritiias.com/


 
SanskritiIAS Online Test Series​        I          ​UPSC (Pre.) 2021​               I                      ​�ह�द�   /   English 

 
  

55. ​Which of the following is/ are correct with                 
reference to the Insolvency and         
Bankruptcy Code, 2016? 

1. It separates commercial aspects of         
insolvency and bankruptcy     
proceedings from judicial aspects. 

2. The Debt Recovery Tribunal (DRT)         
provided as the adjudicating       
authority has no jurisdiction over         
individuals. 

Select the correct answer using the code             
given below: 
(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

56. ​Consider the following statements about           
“Rice Fortification”: 

1. Fortified rice contains Vitamin A,         
Vitamin B1, Vitamin B12, Folic Acid,           
Iron and Zinc. 

2. It is done using Genetic Engineering           
techniques. 

Which of the statements given above is/             
are correct? 
(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

57. ​Economic activities lay stress on the             
importance of 'Invisible Hand of the           
Market'. What does it signify? 

(a) Bringing openness in the market that             
leads to wealth creation. 

(b) Inclusive growth through increasing         
start ups. 

(c) Indirect taxes play an important role             
in identifying the status of economic           
stability. 

(d) Role of SMEs and unorganized sector             
in export growth. 

 

 

58. Consider the following statements in the             
context of oilseed crops of India. 

1. Groundnut is generally grown as a           
rain fed crop. 

2. Sesamum, in India, is grown in the             
north as a Kharif crop but in the               
south as a rabi crop. 

Which of the statements given above is/             
are correct? 

(a)  1 only 

(b)  2 only 

(c)  Both 1 and 2 

(d)  Neither 1 nor 2 

 

 
 

Address:​ 631, Ground Floor,                                                    ​Contact :​        742808557/58 
Dr. Mukherjee Nagar, Delhi-110009                                          ​Web :​ ​www.sanskriti​IAS​.com  
                                                                        ​31  
 

http://www.sanskritiias.com/
http://www.sanskritiias.com/
http://www.sanskritiias.com/


 
SanskritiIAS Online Test Series​        I          ​UPSC (Pre.) 2021​               I                      ​�ह�द�   /   English 

 
  

59. ​संघनन के �लए एक मह�वपणू� आव�यकता है वायु के                   
तापमान म� िगरावट। तापमान म� िगरावट क� यह               
आव�यकता वायु के आरोहण से परूी होती ह।ै लिेकन,                 
वायु के आरोहण से तापमान कैसे िगरता ह?ै इसका                 
उ�र हो सकता ह ैिक 

1. वाय ुके बाहर ऊ�मा का �ास हो जाता ह।ै 

2. वायु म� गसैों के अणओंु के बीच क� �री बढ़ जाती                     

ह ै�जसस ेव ेअ��धक तजेी स ेगित नहीं करत ेह�।   

3. अ��धक ऊँचाई पर वायदुाब म� कमी के कारण               

आरोिहत वाय ुम� िव�तार होता ह।ै 

        नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :   

(a)  केवल 1 

(b)  केवल 2 और 3 

(c)  केवल 2 

(d)  उपयु��त म� स ेकोई भी सही नहीं ह ै

 

60. ​िन��ल�खत म� से कौन�सा 'द���तका�लता' क�             
अव�धारणा क� सही �या�या करता ह?ै  

(a) पौ�धों को अ��धक �काश म� रखना तािक उनम�                 
प�ुपन शी� हो सके। 

(b) �काश व अंधकार क� साप�े��क अव��ध के               
अनसुार पौ�धे क� ऊंचाई म� व�ृ� या कमी।  

(c) �काश और अंधकार क� साप�े��क अव��ध के               
अनसुार पौ�धों म� प�ुपन।  

(d)    उपयु��त म� स ेकोई नहीं  

 

61. ​हाल ही म� ख़बरों म� रहे 'पाॅली�ैक' के संदभ� म�,                     
िन��ल�खत म� कौन�सा  क�थन सही ह ै? 

(a) यह एक संयं� है �जसके �ारा िव�भ� �ोतों से                   
�ा�त कचरे को हाइड� ोकाब�न, तरल ��धन, गसै,             
काब�न त�था पानी म� प�रवि �त�त िकया जाता ह।ै 

(b) यह एक का� किपट वाॅयस �रका� ड�र एवं �लाइट               
डेटा �रका� ड�र ह,ै जो गमु �ए िवमानों को खोजने                 
म� मदद करता ह।ै 

(c) यह ि��ोकर�सी को िडकोड करने क� एक               
�ौ�ोिगक� ह।ै 

(d) यह एक खगोलीय वधेशाला है �जसम� एक कई                 
वहृद् आकार के �रदश� लग ेहोत ेह�।   

 

62. महािव�फोट �स�ांत (िबग ब�ग �योरी) और ��ा�ड               
के िनमा�ण के संदभ� म�, िन��ल�खत क�थनों पर िवचार                 
क��जए :  

1. िबग ब�ग �स�ांत के अनसुार, 13 अरब वष� पवू�                   
��ा�ड म� सभी पदा�थ� एक िन���त समय पर               
एक िन���त ि �ब�� - ‘� �स��यलु�रटी’ से िन� �म�त �ए               
थ।े 

2. �ह अ��धका� शतः उ�च परमाणु भार वाले त�वों               
से बने होते ह�, जबिक सयू� के घटक त�व ह�के                   
परमाण ुभार वाल ेहोत ेह�। 

         उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ? 

(a)   केवल 1  

(b)   केवल  2  

(c)    1 और 2 दोनों 

(d)    न तो 1 और न ही 2 
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59. ​An important requirement for condensation           
is the drop in the temperature of an air                 
parcel. This requirement is fulfilled by the             
rising of air resulting into a drop in               
temperature. But the question is how this             
rise of air leads to the temperature drop?               
The answer could be that 

1. Heat energy is lost to the outside of               
the air parcel. 

2. Individual molecules of gases in the           
air parcel are more widely apart and             
do not move so fast. 

3. The decrease in the air-pressure at           
higher altitudes permitting the rising         
air-parcel to expand. 

Select the correct answer using the code               
given below :  
(a)    1 only 

(b)    2 and 3 only 

(c)    2 only 

(d)    None of the above is correct 

 

60. ​Which of the following correctly explains             
the concept of 'Photoperiodism'? 

(a) Plants exposed to more sunlight so as               
to hasten flowering later in life. 

(b) Increase or decrease in the height of               
plants in response to the relative           
length of light and dark periods. 

(c) Flowering of plants in response to             
the relative length of light and dark             
periods. 

         (d)    None of the above 

61. ​Which of the following statements is/are             
true about “Polycrack” which has been           
recently in the news? 

(a) It converts multiple feed stocks into             
hydrocarbon liquid fuels, gas, carbon         
and water. 

(b) A cockpit voice recorder and a flight               
data recorder that helps finding lost           
aircraft. 

(c) It is a technology used to decode               
crypto currencies. 

(d) It is an astronomical observatory           
with many extremely large       
telescopes. 

 

62. With reference to the Big Bang and               
creation of the universe, consider the           
following statements. 

1. According to the Big Bang Theory, 13             
billion years ago all the matter in the               
universe was created in one instant at             
a fixed moment in time, from a point               
known as 'singularity'.  

2. The planets are largely formed of the             
elements having high atomic weight         
but the constituent elements of the           
Sun are of lighter atomic weight. 

Which of the statements given above is /                 
are correct? 
(a)    1 only 

(b)    2 only 

(c)    Both 1 and 2 

(d)    Neither 1 nor 2 
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63.  ​िन��ल�खत क�थनों पर िवचार क��जए :  

1. अटलां�टक महासागर क� तलुना म� �शांत             
महासागर म� अ��धक महासागरीय गत� पाए           
जात ेह�। 

2. प���चाप (Back-arc) ब�ेसन महासागरीय गत�           
और �वालामखुीय चाप के बीच पाए जात ेह�। 

       उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ? 

(a)  केवल 1 

(b)  केवल 2 

(c)     1 और 2 दोनों 

(d)     न तो 1, न ही 2 

 

64. ​�थल�जल तापमान �भ�ता के संदभ� म�, िन��ल�खत               
कारकों पर िवचार क��जए : 

1. सौर िविकरण से �ा�त ऊ�मा, जल म� �वशे               
करके जल क� एक मोटी परत म� फैल जाती                 
ह।ै 

2. जल क� िव�श� ऊ�मा, मदृा क� तलुना म�               
अ��धक होती ह।ै 

3. जलावत� धाराओं के मा��यम से �म���त जल,             
ऊ�मा को िनचली परतों तक ल ेजाता ह।ै 

4. वा�पीकरण �ारा जल क� सतह अ��धक ठंडी             
हो जाती ह।ै 

�थल क� तलुना म� जल क� सतह के तापमान म� धीमी                       
वृ�� के �लए उपयु��त म� से िकन कारकों को                 
�ज�मदेार ठहराया जा सकता ह ै? 

(a) केवल 1, 2 और 3 

(b) केवल 2, 3 और 4 

(c) केवल 1, 2 और 4 

(d) 1, 2, 3 और 4 

65. ​िन��ल�खत म� से कौन�से �लडार (LiDAR) तकनीक               
के अन�ुयोग ह�? 

1. कृिष प�र��य म� �थलाकृित और भ�ूम क�             
िवशषेताओं का िव�लषेण 

2�   ��षण के �तर का सटीक अनमुान  

3�   �वचा�लत वाहनों के संचालन म� मह�वपणू� भ�ूमका 

4�   कुछ ��ेों म� कृि�म वषा� का िनमा�ण। 

नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1 और 2 

(b) केवल 1, 2 और 3  

(c) केवल 2 और 3  

(d) केवल 1, 2 और 4  

 

66. िव�� �वा� संगठन के अनसुार िन��ल�खत म� से                 
कौन�स े'उप�े��त उ�णक�टबंधीय रोग' ह�? 

1�    ड�ग ू

2�    एच� आई� वी� एड्स 

3�    चागास 

4�    याज 

5�    रोहा (ट� ेकोमा) 

नीचे िदए गए कूट का उपयोग कर सही िवक�प का                     
चयन क��जए :  

(a) केवल 1 और 2  

(b) केवल 2, 4 और 5 

(c) केवल 1, 3, 4 और 5 

(d) 1, 2, 3, 4 और 5 
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63.  ​Consider the following statements :  

1. More oceanic trenches are found         
along Pacific ocean than along the           
Atlantic  ocean. 

2. Back-arc basins are found between         
oceanic trenches and volcanic arcs. 

      Which of the above statements is/are correct 
(a)    1 only 
(b)    2 only 
(c)    Both 1 and 2 
(d)    Neither 1 nor 2 

 

64. ​Consider the following factors with           
reference to land-water temperature       
contrast :  

1. Solar radiation penetrates water,       
distributing the absorbed heat       
throughout a substantial     
water-layer. 

2. The specific heat of water is more             
than that of soil particles. 

3. Water is mixed through eddy         
motions that carry the heat to           
lower layers. 

4. Water surface is cooled more by           
evaporation. 

The slower rise of water surface           
temperature than land surface can be           
attributed to which of the above factors ? 

(a)    1, 2 and 3 only 

(b)    2, 3 and 4 only 

(c)    1, 2 and 4 only 

(d)    1, 2, 3 and 4 

 

65. ​Which of the following are the applications               
of LiDAR technology? 
1. Analysis of topography and land         

characteristics in agricultural     
landscape 

2. Accurate estimation of pollution       
levels 

3. Important role in operation of         
automated vehicles 

4. Creating artificial rain in some         
regions. 

Select the correct answer using the code               
given below: 
(a) 1 and 2 only 

(b) 1, 2 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 4 only 

 

66. Which of the following are the Neglected               
Tropical Diseases according to the         
W.H.O.? 

1.    Dengue 

2.    HIV-AIDS 

3.    Chagas 

4.    Yaws 

5.    Trachoma 

Select the correct option using the codes               
given below: 

(a) 1 and 2 only 

(b) 2, 4 and 5 only 

(c) 1, 3, 4 and 5 only 

(d) 1, 2, 3, 4 and 5  
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67. ​जीन थरेेपी के संबंध म� िन��ल�खत म� से कौन�सा/ से                     
क�थन सही ह/ै ह� ? 

1. भारत म�  जम��लाइन जीन थरेेपी िनिष� ह।ै 

2. जम��लाइन जीन थरेेपी को पीढ़ी दर पीढ़ी             
�सा�रत िकया जा सकता ह।ै 

3. दैिहक को�शका जीन थरेेपी को बाद क� पीिढ़यों               
म� �थानांत�रत नहीं िकया जा सकता ह।ै 

      नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

      (a) केवल 1 और 2  

(b) केवल 1 और 3  

(c) केवल 2 और 3  

(d) 1, 2 और 3 

 

68. ​जलूाॅ�जकल सोसाइटी आॅफ लंदन (ZSL) के व�ैािनकों               
ने पौ�धों म� माइ�ोिबयल ��धन सले को �थािपत करके                 
िव�तु संवदेकों का �योग िकया। इन माइ�ोिबयल             
��धन सले का/ के �ा काय� व मह�व ह/ै ह�  ? 

1. ये आॅ�सीकरण अपचयन �िति�याओं का           
उपयोग करके रासायिनक ऊजा� को िव�तु म�             
बदल देती ह�। 

2. परेू तं� म� इल�ेट� ाॅनों क� आवाजाही को               
सिुव�धाजनक बनाने के �लए ये जीिवत जवै             
उ��रेकों पर िनभ�र करती ह�।   

नीचे िदए गए कूट का उपयोग कर सही िवक�प का                     
चयन क��जए :  

(a)  केवल 1  

(b)  केवल 2  

(c)  1 और 2 दोनों  

(d)  न तो 1, न ही 2  

 

69. ​िन��ल�खत म� से कौन�से 'काब�न �वांटम डाॅट्स' के                 
अन�ुयोग ह� ? 

1�   बायो इम�े �ज�ग 

2�   बायो स�सर 

3�   औष��ध िडलीवरी  

         नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a) केवल 1 और 2  

(b) केवल 2 और 3 

(c) केवल 1 और 3  

(d) 1, 2 और 3 

 

 

70.​  िन��ल�खत क�थनों पर िवचार क��जए : 

1. काब�न डाइआॅ�साइड (CO2) क� वायमंुडलीय         
सां�ता म� व�ृ� से फसल�उ�पादकता म�           
बढ़ोतरी हो सकती ह।ै 

2. बीजों म� 'ट� �म�नटेर तकनीक' के �योग से बं�य               
पौ�धे उ�प� होते ह� �जससे क�ट, प��ी और               
म�धु�म��खयाँ उनके जीवन के �लए आव�यक           
पराग, मकरंद और फलों स ेवं�चत रह जात ेह�।  

        उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह ै/ ह� ? 

(a)  केवल 1 

(b)  केवल 

(c)  1 और 2 दोनों 

(d)  न तो 1, न ही 2 
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67. ​Which of the following statements is not               
correct regarding gene therapy ? 

1. Germ-line gene therapy is prohibited         
in India. 

2. Germ-line gene therapy can be         
transmitted vertically across     
generations. 

3. Somatic cell gene therapy is not           
passed on to subsequent generations. 

Select the correct answer using the code             
given below: 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3  

 

68. ​Zoological Society of London (ZSL) scientists             
used plants to power sensors in the wild by                 
installing microbial fuel cells. What is the             
work and significance of a microbial fuel             
cell ? 

1. It transforms chemical energy into         
electricity using oxidation reduction       
reactions. 

2. It relies on living biocatalysts to           
facilitate the movement of electrons         
throughout their systems. 

Select the correct option using the codes             
given below:  

(a)   1 only 
(b)   2 only 
(c)    Both 1 and 2  

        (d)   Neither 1 nor 2  

 

69. ​Which of the following is/are the             

applications of ‘Carbon Quantum Dots’? 

1.  Bio imaging 

2.  Bio sensor 

3.  Drug delivery 

Select the correct statements using the given               

codes :  

(a)  1 and 2 only 

(b)  2 and 3 only 

(c)  1 and 3 only 

(d)  1, 2 and 3  

 
 

70.​  Consider the following statements : 

1. Enhanced atmospheric concentration     
of CO2 may result in a stimulus to               
crop productivity. 

2. Use of 'terminator technology' in         
seeds creates sterile plants, depriving         
insects, birds and bees of the pollen,             
nectar and fruit they need to survive. 

Which of the statements given above is/               
are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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71. ​िन��ल�खत म� से कौन�सी िवशषेताएँ/ घटनाएँ 'चीन               
त�ुय' जलवाय ुस ेसंबं��धत ह� ? 

1. वष� भर वषा� का समान �प स ेिवतरण 

2. उ�णक�टबंधीय च�वातों स ेतबाही 

3. सदाबहार चौड़ी�प�ी वाले वन और पण�पाती           

वन 

4. कपास क� कृिष  

         नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a) केवल 1, 2 और 4 

(b) केवल 1 और 2 

(c) केवल 1 और 4 

(d) सभी 1, 2, 3 और 4 

 

72. ​ह�बो�ट, ब�गएुला और कै�लफ़ोि �न�या, तीनों ठंडी धाराएँ               
ह�। िन��ल�खत म� से कौन�सा कारक इन सभी के                 
�लए एक समान ह?ै 

(a)  वे ��वीय ��ेों क� बफ� क� चादरों के िपघलने                 

के कारण उ�प� होती ह�। 

(b)  व ेपछुवा पवनों �ारा संचा�लत होती ह�। 

(c)  वे ठंडे पानी क� अपव�े �ल�ग के सा�थ �वािहत               

होती ह�। 

(d)  उपयु��त कारकों म� से कोई भी इन सभी               

धाराओं के �लए एक समान नहीं ह।ै 

 

73.  ​िन��ल�खत क�थनों पर िवचार क��जए : 

1. सबसे गम� महीने क� ​50 ​° फारेनहाइट समताप             
रेखा बो�रयल वनों और टंुड� ा क� सीमा बनाती               
ह।ै 

2. ल�े ��म�ग छोटे चहूे जसैे िदखने वाले मांसाहारी ह�               

जो आक� �टक टंुड� ा म� पाए जात ेह�। 

       उपयु��त म� स ेकौन�सा / स ेक�थन सही ह ै/ ह�? 

(a)  केवल 1 

(b)  केवल 2 

(c)  1 और 2 दोनों 

(d)  न तो 1, न ही 2 

 

74. भारत क� मदृाओं के बारे म� िन��ल�खत क�थनों पर                   

िवचार क��जए : 

1. लटेेराइट �म�ी केवल ि��टलीय च�ानों के           

िन��ालन (ली� �च�ग) स ेबनती ह।ै 

2. लाल �म�ी आमतौर पर िकसी भी च�ान से बन                 

जाती ह।ै 

        उपयु��त म� स ेकौन�सा / स ेक�थन सही ह ै/ ह�? 

(a) केवल 1 

(b) केवल 2 

(c) 1 और 2 दोनों 

(d) न तो 1, न ही 2 

 

 
 

Address:​ 631, Ground Floor,                                                    ​Contact :​        742808557/58 
Dr. Mukherjee Nagar, Delhi-110009                                          ​Web :​ ​www.sanskriti​IAS​.com  
                                                                        ​38  
 

http://www.sanskritiias.com/
http://www.sanskritiias.com/
http://www.sanskritiias.com/


 
SanskritiIAS Online Test Series​        I          ​UPSC (Pre.) 2021​               I                      ​�ह�द�   /   English 

 
  

71. ​Which of the following features/           
occurrences are associated with the 'China           
type’ climate? 

1. Fairly uniform distribution of       
rainfall throughout the year 

2. Devastated by tropical cyclones 

3. Both evergreen broad-leaved and       
deciduous forests are found 

4. Cotton cultivation 

Select the correct answer using the code               
given below. 

(a) 1, 2 and 4 only 

(b) 1 and 2 only 

(c) 1 and 4 only 

(d) 1, 2, 3 and 4 

 

 

72. ​Humboldt, Benguela and California, all           
three are cold currents. Which one of the               
following factors is common to all of them? 

(a)  They are caused by the melting of ice               
sheets of the polar regions. 

(b)  They are steered by the westerlies. 

(c)  They are accompanied by upwelling of           
cold waters. 

(d)  None of the above factors is common to               
all of them. 

 

 

73.  ​Consider the following statements. 

1. The 50° F isotherm of the warmest               

month is the boundary between         

Boreal forests and Tundra. 

2. Lemmings are small mouse-like         

carnivores of the Arctic Tundra. 

Which of the statements given above is/ are                 

correct? 

(a)    1 only 

(b)    2 only 

(c)    Both 1 and 2 

(d)    Neither 1 nor 2 

 

74. Consider following information about soils           
of India: 

1.  Laterite soils are formed from the           
leaching of crystalline rocks only. 

2.  Red soils are generally derived from           
any type of parent rock. 

Which of the statements given above is/               
are correct? 

(a)    1 only 

(b)    2 only 

(c)    Both 1 and 2 

(d)    Neither 1 nor 2 
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75.  ​िन��ल�खत क�थनों पर िवचार क��जए : 

1. अंडमान और िनकोबार ��प समहू म� निे�टो और               

मंगोलाॅयड �जाितयाँ िनवास करती ह�। 

2. �टे अंडमानी, ओंग,े जारवा और स�टीनलीज,           

मंगोलाॅयड �जाित के ह�। 

3. शाॅ�पने और िनकोबारी निे�टो �जाित के ह�। 

उपयु��त म� स ेकौन�सा / स ेक�थन सही ह ै/ ह�? 

(a) केवल 1 

(b) केवल 1 और 2 

(c) केवल 1 और 3 

(d) 1, 2 और 3 

 

 

76. ​भारत म� खिनजों क� उपल�धता के संदभ� म�,                 

िन��ल�खत क�थनों पर िवचार क��जए : 

1. चाँद� का संबंध आ�ये च�ानों म� पाए जाने वाले                 

एक �ा�थ�मक खिनज स ेह।ै 

2. बाॅ�साइट एक ि�तीयक खिनज है जो म�ुय �प               

स ेअवसाद� च�ानों स ेसंबं��धत ह।ै 

        उपयु��त म� स ेकौन सा/ स ेक�थन सही ह ै/ ह�? 

 

(a) केवल 1 

(b) केवल 2 

(c) 1 और 2 दोनों 

(d) न तो 1, न ही 2 

 

77. ​बारहमासी िहम क� सबसे िनचली सीमा को "िहमरेखा"                 

कहा जाता ह।ै प���मी िहमालय म� िहमरेखा पवू�               

िहमालय क� तलुना म� कम ऊंचाई पर होती ह।ै                 

िन��ल�खत म� से िकस/े िक�ह� इसके कारण के �प म�                   

उ��त िकया जा सकता ह ै? 

1. पवू� िहमालय, प���मी िहमालय क� तलुना म�             

कम अ��ांश पर ��थत ह।ै 

2. पवू� िहमालय म� म��यम ऊंचाई क� ��ेणयां             

अनपु��थत ह� त�था ऊंची ��ेणयां सी�धे मदैानों             

स ेअचानक ही श�ु हो जाती ह।ै 

3. प���मी िहमालय क� तलुना म� पवू� िहमालय म�               

कुल वषा� ब�त अ��धक ह।ै 

         नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a)        केवल 1  

(b)        केवल 1 और 2 

(c)        केवल 2 और 3  

(d)        केवल 1 और 3  
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75.  ​Consider following statements : 

1. Andaman and Nicobar islands are         
home to Negrito and Mongoloid         
tribes. 

2. Great Andamanese, onge, Jarawa and         
Sentinelese belong to the Mongoloid         
race. 

3. Shompen and Nicobarese belong to         
the Negrito race. 

Which of the above statements is/ are               
correct? 

(a)  1 only 

(b)  1 and 2 only 

(c)  1 and 3 only 

(d)  1, 2 and 3 

 

76. ​With reference to the occurrence of             

minerals in India, consider the following           

statements:  

1. Silver is associated with a mineral of             

primary origin occurring in       

crystalline rocks. 

2. Bauxite is a secondary mineral         

mainly associated with sedimentary       

rocks. 

Which of the statements given above is/ are                 

correct? 

(a)    1 only 

(b)    2 only 

(c)    Both 1 and 2 

(d)    Neither 1 nor 2 

 

77. ​The lowest limit of perpetual snow is called                 

the ‘snowline’. The snowline in the           

Western Himalaya is at a lower altitude             

than in the Eastern Himalaya. Which of             

the following may be cited as its reason ? 

1. Eastern Himalayas are located at         
lower latitude than Western       
Himalayas. 

2. The Eastern Himalayas rise abruptly         
from the plains without the         
intervention of medium height       
ranges. 

3. Total precipitation is much more in           
the eastern Himalayas than that in           
the western Himalayas 

Choose the correct answer using the codes               

given below: 

(a)  1 only 

(b)  1 and 2 only 

(c)  2 and 3 only 

(d)  1 and 3 only 

 

 
 

Address:​ 631, Ground Floor,                                                    ​Contact :​        742808557/58 
Dr. Mukherjee Nagar, Delhi-110009                                          ​Web :​ ​www.sanskriti​IAS​.com  
                                                                        ​41  
 

http://www.sanskritiias.com/
http://www.sanskritiias.com/
http://www.sanskritiias.com/


 
SanskritiIAS Online Test Series​        I          ​UPSC (Pre.) 2021​               I                      ​�ह�द�   /   English 

 
  

78. ​हाल ही म� च�वात अंफ़ान ने प���म बंगाल और                   

ओिडशा रा�ों म� कहर बरपाया। इस संदभ� म�,               

िन��ल�खत क�थनों पर िवचार क��जए :  

1. उ�णक�टबंधीय च�वात 26° C या उससे अ��धक               

तापमान वाल ेमहासागरीय जल पर बनत ेह�। 

2. अरब सागर क� तलुना म� बंगाल क� खाड़ी म�                   

अ��धक च�वात आत ेह�। 

3. सभी च�वातों का नाम तय करने क� �ज़�मदेारी                 

िव�� मौसम िव�ान संगठन पर ह।ै 

उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह ै/ ह�? 

(a) केवल 1 

(b) केवल 1 और 2  

(c) केवल 2 और 3 

(d) 1, 2 और 3 

 

79. ​�ीनहाउस गसैों के संदभ� म�, िन��ल�खत क�थनों पर                 

िवचार क��जए :  

1. �वालामखुीय एरोसोल (Aerosols) वायमंुडल       

के तापमान म� श�ु(Net) व�ृ� करत ेह�। 

2. �लोरो�लोरोकाब�न (CFCs) से वायमंुडल के         

तापमान म� व�ृ� और शीतलन, दोनों ही             

�भाव उ�प� होत ेह�। 

उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ? 

 

(a)  केवल 1 

(b)  केवल 2 

(c)  1 और 2 दोनों 

(d)  न तो 1, न ही 2 

 

80. ​वा�पशील काब�िनक यौिगक (वी�ओ�सी�) जो घरेलू वायु               

��षण के म�ुय योगदानकता� ह�, के संदभ� म�               
िन��ल�खत क�थनों पर िवचार क��जए :  

1. ये पौ�धों के आपसी संचार, और पौ�धों से जंतओंु                 
तक संदेश �षेण म� एक मह�वपणू� भ�ूमका             
िनभात ेह�। 

2. एसीटोन और फा� म���डहाइड वा�पशील       
काब�िनक यौिगक ह� जो प�ट्स (Paints) म� पाए               
जात ेह�। 

3. फेफड़े के क� सर जसैे रोगों के परी��ण के �लए                 
इनका उपयोग जवै �च�हक (बायोमाक� र) के �प             
म� िकया जाता ह।ै 

4. 1981 के वायु (रोक�थाम और ��षण का             
िनयं�ण) अ��धिनयम, �जसका 1987 म� संशो�धन           
िकया गया, म� िवशषे �प से वी�ओ�सी� का               
उ�लखे ह।ै 

          उपयु��त म� कौन�सा/ स ेसही क�थन ह ै/ ह� ? 

(a) केवल 2 और 3 

(b) केवल 1, 2 और 3 

(c) केवल 1, 2 और 4 

(d) 1, 2, 3 और 4 
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78. Recently, Cyclone Amphan wreaked havoc           
in the States of West Bengal and Odisha.               
In this context, consider the following           
statements. 

1. Tropical cyclones are formed over         
warm waters having temperatures of         
26°C or more. 

2. Bay of Bengal witnesses more         
cyclones as compared to Arabian sea. 

3. The World Meteorological     
Organisation is responsible for       
naming all cyclones. 

Which of the above given statements is/             
are correct ? 

(a)    1 only 

(b)    1 and 2 only 

(c)    2 and 3 only 

(d)    1, 2 and 3 

 

79. ​Consider the following statements in           
context of Greenhouse Gases. 

1. Volcanic aerosols have a net warming           
effect on the atmosphere. 

2. Chlorofluorocarbons (CFCs) have both       
a warming and cooling effect. 

  Which of the statements given above is/             
are correct? 

 

(a)    1 only 

(b)    2 only 

(c)    Both 1 and 2 

(d)    Neither 1 nor 2 

 

80. ​With reference to Volatile Organic           
Compounds (VOCs), the main contributors         
of indoor air pollution, consider the           
following statements. 

1. They play an important role in           
communication between plants,     
and messages from plants to         
animals. 

2. Acetone and formaldehyde are       
VOCs found in paints. 

3. They are used as a biomarker to             
test for diseases such as lung           
cancer. 

4. The Air (Prevention and Control of           
Pollution) Act in 1981, amended in           
1987, specifically mentions VOCs. 

Which of the statements given above is /                 
are correct? 

(a) 2 and 3 only 

(b) 1, 2  and 3 only 

(c) 1, 2 and 4 only 

(d) 1, 2, 3 and 4 
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81. ​�जाितयों के िवतरण के संदभ� म�, िन��ल�खत क�थनों                 
पर िवचार क��जए :  

1. आ��ता, तापमान, �काश त�था वाय,ु पादपों           

और जंतओंु क� �जाितयों के िवतरण को             

सी�मत कर सकत ेह�। 

2. जवै�जलवायवीय (Bioclimatic) सीमांत, एक       

भौगो�लक सीमा है जो िकसी �जाित के             

संभािवत िवतरण क� सीमा को दशा�ता ह।ै 

  उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह�? 

(a)  केवल 1 

(b)  केवल 2 

(c)  1 और 2 दोनों 

(d)  न तो 1, न ही 2 

 

82. चमगादड़ों से उ�प� कोिवड�19 महामारी के म�नेज़र               
अवधै व�यजीव �यापार का मामला सामने आया ह।ै               
व�यजीव �यापार क� िनगरानी के संदभ� म�,             
िन��ल�खत क�थनों पर िवचार क��जए : 

1. वाइ�डलाइफ ट� ेड माॅिनट� �र�ग नटेवक�       

(TRAFFIC), व�ड� वाइड फंड फा� र नचेर           

(WWF) और क�व�शन आॅन इंटरनशेनल ट� ेड           

आॅन एंड�जड� �पीशीज आॅफ वाइ�ड फा� ना एंड             

�लोरा (CITES) का एक संय�ुत काय��म ह।ै 

2. CITES का उ��ेय यह सिुन���त करना है िक               

जंगली ज�तओंु और वन�पितयों का अंतरा��� ीय           

�यापार उनके अ��त�व को खतरे म� न डाल।े 

3. CITES के प�र�श� II म� वे �जाितयां शा�मल               

ह� �ज�ह� िवल�ुत होने का खतरा ह,ै इस�लए               

उनके अ��त�व को बनाए रखने के �लए उनके               

�यापार को िनयंि�त िकया जाना अिनवाय� ह।ै 

  उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह�? 

(a)    केवल 1 और 2 

(b)    केवल 2 

(c)    केवल 2 और 3 

(d)    1, 2 और 3 

 

 

83. ​��मस के संबंध म� िन��ल�खत क�थनों पर िवचार                 

क��जए :  

1. यह पोषक त�वों के भंडार के �प म� काय� करता                   

ह।ै 

2. यह जिैवक अपघटन के �ित अ���धक �ितरो�धी               

ह।ै 

          उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ? 

(a) केवल 1 

(b) केवल 2 

(c) 1 और 2 दोनों 

(d) न तो 1 और न ही 2 
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81. ​Consider the following statements in the             
context of distribution of species. 

1. Moisture, temperature, light, and       
wind can limit the distribution of           
plant and animal species. 

2. There is a geographic boundary,         
bioclimatic frontier, showing the       
limits of the potential distribution         
of a species. 

Which of the statements given above is/             
are correct? 

(a)    1 only 

(b)    2 only 

(c)    Both 1 and 2 

(d)    Neither 1 nor 2 

 

 

82. ​In the wake of the Coronavirus pandemic               
which originated from the bats, the issue             
of illegal wildlife trade has come to the               
fore. With reference to monitoring of           
wildlife trade, consider the following         
statements. 

1.  Wildlife Trade Monitoring Network       
(TRAFFIC) is a joint programme of           
the World Wide Fund for Nature           
(WWF) and Convention on       
International Trade in Endangered       
Species of Wild Fauna & Flora           
(CITES). 

 

2.  CITES aims to ensure that         
international trade in specimens of         
wild animals and plants does not           
threaten their survival. 

3.  Appendix II of CITES includes         
species which are threatened with         
extinction, so their trade must be           
controlled for their survival. 

Which of the statements given above is / are                   
correct? 

(a) 1 and 2 only 

(b) 2 only 

(c) 2 and 3 only 

(d) 1, 2 and 3 

 

83. ​Consider the following statements         
regarding humus :  

1. It serves as a reservoir of nutrients. 

2. It is highly resistant to microbial action. 

Which of the statements given above is/               
are correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 
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84. ​मदृा क� अ�लीय या �ारीय �कृित के बारे म�                   
िन��ल�खत क�थनों पर िवचार क��जए :  

1. आ�� जलवायु म� मदृा सामा�यतः उ�च �ारीय,               

जबिक श�ुक जलवायु म� सामा�यतः अ�लीय           

होती ह।ै 

2. चनूे या कै��सयम काब�नटे (CaCO3) को मदृा               

म� डालकर उसक� अ�लता को ठ�क िकया जा               

सकता ह,ै जो अ�लीय आयनों को हटाकर उ�ह�               

�ारीय कै��शयम स े�ित�थािपत कर देता ह।ै 

उपयु��त म� स ेकौन�सा/ स ेक�थन सही  नहीं   ह/ै ह�? 

(a) केवल 1 

(b) केवल 2 

(c) दोनों 1 और 2 

(d) न तो 1 और न ही 2 

 

 

85. िन��ल�खत म� से कौन�सा म��थलीकरण का कारण               

नहीं   ह?ै 

(a) श�ुक व अ���श�ुक ��ेों म� नहर � �स�चाई �णाली 

(b) जलवाय ुप�रवत�न 

(c) औसत भ�ूम क� अ���धक जोत 

(d) पशु�धन और व�यजीवों के बड़े झ�ं डों का �वासन 

86. ​िन��ल�खत म� से िकस �कार के जीव, अपघटक                 
(decomposers) ह� ? 

1� िवषाण ु(Virus)  

2� कवक (Fungi)  

3� जीवाण ु(Bacteria) 

       नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :   

(a) केवल 1   

(b) केवल 2 और 3 

(c) केवल 1 और 3    

(d) 1, 2 और 3 

 

 

87. ​‘पादप िक� एवं कृषक अ��धकार संर��ण अ��धिनयम,               
(Protection of Plant Varieties and Farmers’           
Rights Act) 2001’ िन��ल�खत म� से िकन             
अ��धकारों क� बात करता ह ै? 

1. शो�धकता�ओं के अ��धकार 

2. िकसानों के अ��धकार 

3. �जनकों के अ��धकार   

          नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a) केवल 1 और 2  

(b) केवल 2 और 3 

(c) केवल 1 और 3  

(d) 1, 2 और 3 
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84. ​Consider the following statements         
regarding the acidic or alkaline nature of             
soils :  

1. Soils in humid climates typically         
have high alkalinity, while in arid           
climates, soils are typically acidic. 

2. Acidity can be corrected by applying           
lime or CaCO3, which removes acid           
ions and replaces them with the base             
calcium. 

Which of the statements given above is/ are                 
not ​correct? 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

 

85. Which among the following is ​not a cause                 

of desertification? 

(a) Canal Irrigation practices in arid           

and semi-arid regions. 

(b)     Climate change. 

(c)     Excessive tillage of average land. 

(d) Migration of large herds of livestock             

and wildlife.  

 

86. ​Which of the following organisms are             
decomposers ? 

1.  Virus   

2.  Fungi   

3.  Bacteria 

Select the correct answer using the code               
given below :  

(a) 1 only    

(b) 2 and 3 only 

(c) 1 and 3 only    

(d) 1, 2 and 3 

 

 

87. ​‘Protection of Plant Varieties and Farmers’             
Rights Act, 2001’ talks about which of the               
following rights? 

1.  Researchers’ Rights 

2.  Farmers’ Rights 

3.  Breeders’ Rights   

Select the correct answer using the code               
given below :  

(a)  1 and 2 only 

(b)  2 and 3 only 

(c)  1 and 3 only 

(d)  1, 2 and 3  
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88. ​'को� �र�गा व�यजीव अभयार�य' के संबंध म� िन��ल�खत               
क�थनों पर िवचार क��जए : 

1. यह अभयार�य कावरेी �वारनदमखु (Estuary)         
का एक िह�सा ह।ै 

2. इसम� �यापक �प से म��ोव और श�ुक             
पण�पाती उ�णक�टबंधीय वन ह�। 

3. यह गंभीर �प से ल�ुत�ाय �ते पीठ वाले और                 
लंबी चोंच वाल ेिग�ों का आवास ह।ै 

4. होप ��प इस अभयार�य का एक िह�सा ह।ै  

        उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ? 

(a) केवल 1 और 2 

(b) केवल 2 और 3 

(c) केवल 2, 3 और 4 

(d) 1, 2, 3 और 4 

 

89. िन��ल�खत म� से कौन�से वनाि� से जड़ेु पया�वरणीय                 
�भाव ह� ? 

1. काब�न � �स�क संसा�धनों क� हािन 

2. वन भ�ूम क� मदृा म� पोषक त�वों क� उपल�धता                 
म� भारी कमी  

3. आ�ामक खरपतवारों को समा�त कर देशज           
पौ�धों को उगान ेम� मदद  

       नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a) केवल 1 और 2  

(b) केवल 1 और 3  

(c) केवल 2 और 3  

(d) 1, 2 और 3 

 

90. ​गो�डन लंगरू को मनरेगा का ��थम गरै�मानव लाभा�थ�                 

घोिषत िकया गया ह,ै यह संकट��त �जाित भारत के                 

िकस िह�स ेम� पाई जाती ह?ै 

(a) उ�र भारत     

(b) उ�र�पवू� भारत 

(c) पवू� भारत  

(d) द���ण भारत  

 

91. ​'अंतरा��� ीय �कृित संर��ण संघ (आई�य�ूसी�एन�)' के             
संबंध म� िन��ल�खत क�थनों पर िवचार क��जए :  

1. सरकारी और गरै�सरकारी संगठन दोनों इसके           

सद�य ह�।   

2. आई�य�ूसी�एन� प�रषद, आई�य�ूसी�एन� क�       

�मखु शासी िनकाय ह।ै   

3. यह �जाितयों को पांच ��ेणयों म� िवभा�जत             

करता ह।ै 

4. यह �िनया भर म� आवासों और �जाितयों के               

संर��ण के �लए ��ेीय प�रयोजनाएँ चलाता ह।ै   

           उपयु��त म� स ेकौन�स ेक�थन सही ह� ? 

(a) केवल 1, 2 और 3  

(b) केवल 1, 2 और 4 

(c) केवल 2, 3 और 4  

(d) 1, 2, 3 और 4 
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88. ​Consider the following statements with           
respect to ‘Coringa Wildlife Sanctuary’ :  

1. The sanctuary is a part of the Cauvery               
estuary. 

2. It has extensive mangroves and dry           
deciduous tropical forests. 

3. It is home to the critically endangered             
white-backed vulture and the long         
billed vulture. 

4. Hope Island is a part of sanctuary. 

Which of the statements given above is/ are                 
correct? 

(a)  1 and 2 only 

(b)  2 and 3 only 

(c)  2, 3 and 4 only 

(d)  1, 2, 3 and 4 

 

89. Which of the following are the             
environmental impacts associated with       
forest fires? 

1. It causes loss of carbon sink resources. 

2. It will result in near-zero nutrient           
availability in the forest soil. 

3. It may help grow native plants by             
killing invasive weeds.  

Select the correct answer using the code               
given below. 

(a) 1 and 2 only 

(b) 1 and 3 only 

(c) 2 and 3 only 

(d) 1, 2 and 3  

 

90. ​Golden Langur has been declared the first               
non-human beneficiary from MNREGA,       
in which part of India this threatened             
species is found? 

(a) North India   

(b) North Eastern India 

(c) Eastern India  

(d) South India States 

 

91. ​Consider the following statements with           
respect to ‘International Union for         
Conservation of Nature (IUCN)’ 

1. It has a membership of governmental           
and non-governmental organizations. 

2. The IUCN Council is the principal           
governing body of IUCN. 

3. It divides species into five categories. 

4. It runs field projects for habitat and             
species conservation around the       
world.  

Which of the statements given above are               
correct? 

(a)  1, 2 and 3 only 

(b)  1, 2 and 4 only 

(c)  2, 3 and 4 only 

(d)  1, 2, 3 and 4 
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92. ​हाल ही म�, एन�टी�पी�सी� (NTPC) �ल�मटेड �ारा               
�लाई ऐश से �जयो�पाॅ�लमर ए�ीगटे को           
सफलतापवू�क िवक�सत िकया गया ह।ै �जयो�पाॅ�लमर           
ए�ीगटे के उ�पादन म� �लाई ऐश का उपयोग करने के                   
िन��ल�खत म� स ेकौन�सा/ स ेलाभ ह� / ह�? 

1. यह �ाकृितक ए�ीगटे के �ित�थापक के �प म�               
पया�वरण पर �भाव को कम करने म� मदद               
करेगा। 

2. इसम� कं��ट म� �म��ण के �लये िकसी भी �तर                 
पर सीम�ट क� आव�यकता नहीं होती ह।ै  

3. इसम� जल क� खपत म� कमी क� काफ� संभावना                 
ह।ै 

नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1 

(b) केवल 2 और 3 

(c) केवल 3 

(d) 1, 2 और 3 

 

93. िन��ल�खत म� से कौन�सा क�थन 'बायो�ो�प�े ��ट�ग'             
श�द का सबस ेसही वण�न करता ह ै?  

(a) सू�� जीवों का उपयोग कर �म�ी से �िषत                 

पदा�थ� को िनकलना। 

(b)     जीन स ेआनवंु�शक जानकारी को हटाना। 

(c) आ� �थ�क मह�व के उ�पादों के �लए आनवंु�शक               

िविव�धता क� खोज करना। 

(d)     उपयु��त म� स ेकोई नहीं। 

 

94. ​हाइड� ोजन ��धन के संदभ� म�, िन��ल�खत क�थनों पर                 
िवचार क��जए :   

1. हाइड� ोजन एक �व� ऊजा� �ोत है �जसम� जल               
�मखु उप�उ�पाद होता ह।ै  

2. अ�य ��धनों क� तलुना म� हाइड� ोजन म� सबसे               
अ��धक ऊजा� घन�व होता ह।ै 

3. हाइड� ोजन का िनमा�ण 'डाक� फ़म�टेशन तकनीक'           
�ारा िकया जा सकता ह।ै 

उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह� ?  

(a) केवल 1 

(b) केवल 2 और 3 

(c) केवल 3 

(d) 1, 2 और 3 

 

95. ​�जस दर से हम �सन करते ह�, वह आॅ�सीजन क� उस                       
मा�ा पर िनभ�र करती है जो र�त म� ले जायी जाती ह।ै                       
आॅ�सीजन एक मह�वपणू� भ�ूमका िनभाती ह ै�ोंिक 

1. इसका उपयोग भोजन को उपयोगी ऊजा� म�             
बदलन ेके �लए िकया जाता ह।ै 

2. अ���धक या ब�त कम आॅ�सीजन �ितकूल           
�वा� प�रणाम उ�प� कर सकती ह।ै 

3. गहन �यायाम के दौरान मांसप�ेशयों म�           
आॅ�सीजन क� आपिू �त� अ�थायी �प से बढ़             
जाती ह।ै 

        नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए :  

(a) केवल 1 और 3 

(b) केवल 1 और 2  

(c)  केवल 2 और 3  

         (d) 1, 2 और 3  
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92. ​NTPC has recently developed geo-polymer           
aggregates using fly ash. Which of the             
following is/ are the benefits of using fly               
ash, in the production of geo-polymer           
coarse aggregates ? 

1. It will help as a replacement for             
natural aggregates and reduce the         
impact on the environment. 

2. It does not require cement at any             
stage for mixing in concrete. 

3. It has great potential for reduction of             
water consumption. 

Select the correct answer using the code             
given below :  

(a) 1 only 

(b) 2 and 3 only 

(c) 3 only 

(d) 1, 2 and 3 
 

 

93. Which one of the following statements             
best describes the term ‘bioprospecting’ ?  

(a) Removing the contaminants from         
soil using micro-organisms. 

(b) Deleting the genetic information from           
genes. 

(c) Exploring genetic diversity for         
economic importance. 

(d)    None of the above  

 

94. ​With reference to the hydrogen fuel,             
consider the following statements: 

1. Hydrogen is a clean energy source           
having mainly water as a byproduct. 

2. Hydrogen has the highest energy         
density when compared to any other           
fuels. 

3. Hydrogen can be produced by dark           
fermentative technology. 

Which of the statements given above is/ are                 
correct ?  

(a) 1 only 

(b) 2 and 3 only 

(c) 3 only 

(d) 1, 2 and 3 

 

 

95. ​The rate at which we respire depends on                 
the amount of oxygen being carried in the               
blood. Oxygen plays an important role           
because 

1. It is used to convert food into useful               
energy. 

2. Excess or too little oxygen can lead to               
adverse health consequences. 

3. Oxygen supply temporarily increases       
in muscles during intense exercise. 

Select the correct answer using the code               
given below:  

(a) 1 and 2 only 

(b) 1 and 2 only 

(c) 2 and 3 only 

(d) 1, 2 and 3  
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96. ​"आइका� न (ICON) �मशन" के बारे म� िन��ल�खत               
क�थनों पर िवचार क��जए : 

1. इसे नासा और यरूोपीय अंत�र�� एज�सी� के             
सहयोग स ेलाॅ� िकया गया ह।ै 

2. यह पृ��वी के आयनम�डल के उन गितशील ��ेों               
का पता लगाने के �लए ���ेिपत िकया गया एक                 
उप�ह ह,ै जो िन��य गसै और आयिनत             
�ला�ा के टकरान ेस ेबनत ेह� । 

          उपयु��त म� स ेकौन�सा/ स ेक�थन सही ह/ै ह�? 

     (a) केवल 1  

     (b) केवल 2  

     (c)  1 और 2 दोनों  

     (d) न तो 1, न ही 2 

 

 

97. ​"इला�टोकैलो�रक �भाव" हाल ही म� समाचारों म� था,                 
िन��ल�खत म� से कौन�सा इसके अन�ुयोगों से             
संबं��धत ह ै? 

(a) ि�ज और एयरकंडीशनर म� इ�तमेाल होने वाले               
�व रेि�जर�ट क� आव�यकता को �र करने के               
�लए। 

(b) गरै दहन गसैों के �लए BS4 इंजन अप�डेेशन                 
क� आव�यकता को �र करन ेके �लए। 

(c)     हाइड� ोजन यौिगकों स ेबायोडीजल बनान ेम�। 

(d) इस �भाव के दौरान अंत�र�� याि�यों को कम                 
आॅ�सीजन का उपयोग करन ेम� मदद �मलगेी।  

 

98. ​"ANDREX �ोज�ेट" के संदभ� म� िन��ल�खत म� से                 
कौन�सा/ स ेक�थन सही  नहीं   ह/ै ह� ? 

1. यह महासागर और वायमंुडलीय काब�न         
डाइआॅ�साइड के �तर के बीच संबंध क� समझ               
को बढ़ाएगा। 

2. यह अटलां�टक महासागर क� अ�थाह गहराइयों           
म� खोज को संद� �भ�त करता ह।ै 

  नीच ेिदए गए कूट का �योग कर सही उ�र चिुनए : 

(a) केवल 1 

(b) केवल 2  

(c) 1 और 2 दोनों 

(d) न तो 1, न ही 2 

 

99. रा�� ीय काननूी सवेा �ा��धकरण (NALSA) के संदभ�               
म�, िन��ल�खत क�थनों पर िवचार क��जए।  

1. यह एक वधैािनक िनकाय ह।ै 

2. इसका उ��ेय समाज के कमजोर वग� को म�ुत               

काननूी सहायता �दान करना ह।ै 

3. यह िववादों के सौहाद�पणू� िनपटारे के �लए लोक               

अदालतों का आयोजन करता ह।ै 

        उपयु��त म� स ेकौन सा/ स ेक�थन सही ह ै/ ह�? 

(a) केवल 1 और 2  

(b) केवल 2 और 3  

(c) केवल 3  

(d) 1, 2 और 3 
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96. ​Consider the following statements about           
“ICON Mission”: 

1. It has been launched by collaboration           
of NASA and European Space Agency. 

2. It is a satellite launched to detect             
dynamic zones of Earth’s Ionosphere         
as neutral gas and ionized plasma           
collide in this area. 

Which of the statements given above is/are               
correct? 

(a) 1 only 

(b) 2 only 

(c)     1 and 2 both  

(d) Neither 1 nor 2  

 

97. ​“Elastocaloric effect” was in the news             
recently, which of the following is related             
to one  of its applications? 

(a) To do away with the need of fluid                 
refrigerants used in fridges and         
air-conditioners. 

(b) To do away with the BS4 engine               
upgradation for unburnt gases. 

(c) Used in making biodiesel from           
hydrogen compounds. 

(d) To help Astronauts use less oxygen             
while under this effect. 

 

98. ​Which of the following statements given are               
incorrect about “ANDREX Project”? 

1. It enhances the understanding of the           
link between the Ocean and the           
atmospheric carbon dioxide levels. 

2. It refers to exploration of deep waters             
of the Atlantic Ocean. 

Select the correct answer using the code               
given below: 

(a) 1 only 

(b) 2 only 

(c) Both 1 and 2 

(d) Neither 1 nor 2 

 

99. With reference to the National Legal             
Services Authority (NALSA), consider the         
following statements. 

1. It is a statutory body. 

2. It aims to provide free legal aid to               
the weaker sections of the society. 

3. It organizes Lok Adalats for         
amicable settlement of disputes. 

Which of the statements given above             
is/are correct? 

(a) 1 and 2 only 

(b) 2 and 3 only 

(c) 3 only 

(d) 1, 2 and 3   
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100. ​जल शो�धन तकनीकों के िवकास के संदभ� म�,                 

'�सरे�मक �झ�ली (म�े�ने)' श�द, �जसे कभी�कभी           

समाचारों म� देखा जाता ह,ै िन��ल�खत म� से �ा                 

संद� �भ�त करता ह?ै  

(a) इसे भारी धातओंु से �िषत जल के शो�धन के                   

�लए इ�तमेाल िकया जाता ह।ै 

(b) इसे जल क� जवै आॅ�सीजन माँग बढ़ाने के �लए                   

इ�तमेाल िकया जाता ह।ै 

(c) इसे उस सीवजे का शो�धन करने के �लए उपयोग                   

िकया जाता है �जसम� पारंप�रक �णाली स��म             

नहीं ह।ै 

(d) इसे �िषत जल से अ���धक िवषा�त रसायनों               

को अलग करन ेके �लए उपयोग िकया जाता ह।ै 
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100. ​In the context of water purification             

techniques, the term ‘Ceramic       

Membranes’, sometimes seen in the         

news, refers to 

(a) Treatment of water contaminated         

with heavy metals. 

(b) Used to enhance bio oxygen demand             

of water. 

(c) To treat sewage which the traditional             

system is not able to. 

(d) Used to purify water dissolved with             

highly toxic chemicals. 
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